Polynomials - Simplify 9 monomials and fractions with 2 variables:

Simplifying monomials and fractions with two variables:

1 5 1 1 1 1 1
1) =x%? - =x3+8y° + 1-x3 + 35Xy + 4= y? + 453y + 3=xy - 2x°
) XY g y +15 Y HASY HADXY + 30Xy

2 , ., 4 5, .1, .6 1, .1, 1
2) 15y? +23 - 1-y+ 1=y - 15X - 1oy + 2> y? + 15x% + 4=
) 3y 5y 6y 6 7y 4y 2 4y
6 3 1
3) —mn®+ 11wz + 2w v 2t + 130 - 1 2mnt e 1 3nn? — 2
7 2 4 4 4 7 2 4
1
4) 32a%0% - 1202 + 1ga2b £ 202 + 210%0° + 8§a2b +128%0°% + 1p° - 1ga2b3
6 6 3 3 5 7 3 5
3
5) u?v? — TR I R S VAT I S Y
7 2 7 5 2 3
1, 1 3 3 7T 3 55 1, 1, S5 3 2
6) 1 XYy+—y+1-X +2— X+ XYy -1 X" +=_Xy+1_x -1
) 2 Y 8y 8 8 y 2 5 y 8 3y
1 1 2 1 1 3
7) 2%v2 = V2 + 25x2v2 + 122 + Sx2v2 + A= xv2 + X2V2 — =2 — 22
) 2xy" -y SV oY XY A YT XY Y Yy
1 2 1
8) 2u® + p N SR SN LI D LV E P O E Y
2 5 3 2 6 4 7 3
1 3 5 2 3 2
9 2y? - 7x° - 1=y +2y+ x> =33y + 1-x° - Sy +4-y?
) 2y A A YT —oyrany
1 3 3,,2 2,,2 1 2.3 2 2,,2 1 3,,2 3 2.3 2,,2 2 3,,2
10) — - 2=XYy +2XY + =Xy + XY - 1-XYy +4=XYy +2Xy" +1-X
)4 Xy YT XY XY LXKy y"+15Xy
4 1 2 1 3 2 1
11) =x3y® =8+ 1=-xy + 1=+ 3=x%y? + 1=-x%y° + 2x%y° + 1=x%y? + 3=
)7 y g 153Xy + 10Xy y H1oXy +30)y
6 3

1 1 S 1 5 3 2
12) 2=x+5y° —2=xy° + 1oxy® + 1=x+ 2=y  +4-x+ 3=y° - 1=
) 3 Y 6xy 6xy 8 6y 4 3y 7xy
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2 1
13) b3 +1— :a b? Eazb +a’b+ 3%b3 + Eazb2 +a’b + 2b* - 2a’b?

1 3,,3 5 3 1 2.,3 2 3 3 3,2 3:,3 1 2.,3 1 3 5 3,,2
14) 4=Xy =12y =1 XYy + -y  +4-XYy +2X°y" +—Xy" —2—y" = 3—X
) XY &Y XY Y Xy y E XY &Y g<Y

1 1
15) 110802 + 120%0% + 2202 + Sp® + La%h® - 32a%h% + 4582 - 2a%b + —a%h?
2 6 6 2 3 3 4 4

1 4 2 2 1 1
16) =m°n® +3—m? + 43w + 12000 - 2n2 - 2 + 4 Lmen® + 2302 - 32
2 5 5 3 7 4 4 3
5, 3 1 , 1., i, 1 3,
17) 4=x3-3-y+2=xy? +=x° 1 xX3y? + 1=x2 +1 +1-y+1-x3
) 6 4y 8Xy 8 7 y 4 Xy 3y 5 y
5 1, 5 5 4 . 3 5, 6 3 3 3
18) 2-x-1-y +4—xy "+ 1-Xy" + -y + -X+ 4y - 2xy" — —X
) - SV TAPY Iy ALY XAy -2y -

2., 1, 1, 2
19) 1= x3 +4 + X+ =Xy - 1— x2 +4xy° + 1=x% - X2y - 1=x%y?
) y xy . 5 y® - XY xy® p y-13xy

12,522,100 1o 1,0 3o 65, 4. .15
20) T X" +2—y" + XY+ X +6XY - 1-XYy+-Xy+1-_x"-1—
) 3 5y 4 Y 2 3 Y 4 Y 7 Y 7 4y

3
21) mn 32mn® + 2m+ 1om+ 15m2n® — Smen + 22mn® + 22m2nd + 2m
3 7 5 5 7 3

1, 2 3 .1 2, 2, 3 1,, .13
22) 3 XYy-——y+2-+1- - Xy+4_Xy+_-y+ XYy -1—x
) 2 Y 3y 7 7 3 Y 3 Y 5y 2 Y 8 Y

1 5 4, 2 2 1
23) =Xy +xy = 1ox% + 1=x% + =Xy + A=xy + 4=xPy + X° + 2
)2 y*+xy -1y X T XY Ay ATy Xy

3 3 3

3 4 2 1 1 7
24) 1=ab+4=b%*-=a’b® + 1—ab - 1-a’b® + 4—b® + —ab - 1-a’b® + 8—b?
4 75 7 5 4~ 4 5 8

25) N 2b——b+2 b+2a U+ 15 + 24520 - 1p+ Lo
2 7 4 5 2 8
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1 1
26) 32mPn? — 13PN + 12080% + S2n® — 1-2m + 2mn? + 15mPn® + —mPn® — 2men
8 3 3 8 2
1 1 1 1 1 1 1 3
27 _3_1_X3 2+3_2+1_ 3_1_X3 2__3+3_ 3+2X3 2+_2
) SY Ty A Y ALy S Loy oy 430Xy y +,y
4 S5 3
28) 2§x3y + 41x3y3 - —x%y? + 4§x3y +2x%y° - 4y? + 12 y o 3y3 + 2x%y?
7 4 5 5
1 1
29) 33028 + Lua 232+ uav® - 11+ 2u 4 20+ 4202 - AP
5 2 8 2 6

1
30) 5m+ 3.§m3 1t 13 - Lt 1ima 22m+ 1.8 - 3207
7 6 8 2 3 7 6

5
31) 2uiv+ 1gu2v2—11u+1§u3v——u2v +16+35uv -3= +12u
6 8 7 6 6 3

1 1, 1 2 ,
32) =xy? - 3% + 8%y + =y + =xy? + 8y + 2=x3y? + 3=x
)2xy 3y y*+oy+s xy y 2y 3y

3 2
33) ~ud+ 11u3v2 - 11uv2 + 1ﬂu3v2 232 11u3v + 11u3v2 + 1§u3v +=ud
2 5 8 6 3 3

1 5 1 2 3 5 3
34) =xy? + 1=x%y - 2=xy + 1oxy? + 1=x%y® — 3=xy + 3%y + 8x%y° + 1=xy?
) Iy T2y 1yt 10Xy =3 0y + 3y +8Xy + 10y

1
35) 12ab+ atatp +5ip2 412 ab +432%0° + 12020% + 202 + Sa2b® + 1-2ab
7 2 2 5 2 4 3

3 2 5 2.,3 2 3 2.,3 2.,3 3 2 4
36) 1> — xy? + 3=xy° + 5xy? + 1=x%y°% — 4+ 2x%y° - 32xy? + 4—
) p Xy 3 y® + 5xy p y y 5><y .

2 1 7 3 1 3
37) 2xy° + 2=x+ =Xy + —xPy? + oxy® - 2= x + x + Bxy® - =x%y°
) 2xy X XY XY Ay ) XyT Xy

5 5 1, .1 1 4 .2 34 _ o . _1
38) 32xy° = X+ 17+ xy? + 12 35y + 5% — 2y° + 3=
) 375 2 "V T Ty R
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1
39) 2uv® + st el ea2ns 1t —at s tae 1t e
4 3 6 4 6 5 5

7 5 1
40) 12ab - 222 + 110% + La? + 31ab + 120° + 322 + 2ab + 1b°
8 4~ 8 8 5 37 6 2

1 1 1 1 1 5 1 5 3
A1) Sxy? + =X+ Y 3 xyt + X - 1oy Sy - 1 =
) 4Xy 2 2y 2xy 3 8y 6y 6 5Xy

1 1 1 5
42) An-12mn+ 80 +3n+ 150 - mn+ 1518 + 15 + 22
5 3 4 4 8
1 1 1 1 1 2 1 1
43) 23y = 2=+ =xy® + 6 — X2y + —xy? + —xy + 4=X°y + A=xy?
) 8 y 6 3Xy 2 y 2Xy 3Xy 6 y 2Xy

1 1 1 7 1 4 2 1 5
44) 3=x%y? =y -1y + 1+ 2=y - 3=y  + Sy + 1y - —xPy?
) 5 y 2y > y 3 6y 5y 3y 2y 3 y

833 _,332,1 132 15 ,1.5 33_ 132
45) 3=x° = 3=Xy’ + = + 8=y — =y  + 1=+ — +4-y° ——x
) 8 5 Y 8 2 Y 5y 6 8 4y 4 Y

1
46) 2uv + lgu2 -—ud+ 2§u2 + 31uv3 + 42u2v + 1Zu2v + 8§u2 + 11uv3
4 3 5 5 7 5 8 8

5 3 2 6 2.,2 2 2.,3 7 3 1 1 2.,2 4 3
47) 4=y  + X =2 XY +1=-Xy —1—xy—-4y  +2 Xy —3_ XYy -3—
) 6y 3 - y c y 8><y y 2><y 3 y 5y

4 5 5 3 7 3
48) X°y? + 1=y - 1=x+ X°y? + 3=x°y? + —y + —X°y? + Tx%y? - 2=y°
) Xy Y- 1g y g Y Ty Xy y 2y

1 .15 5, .35 6, 1 o 1, 3,
49) 1= +12y3 =222 + 15y + 0Py + 4~ + 5%y — 152 + >
) 1,13y % PR T R IO

1 1 .1, 1., 3 1
50) 1-ab-2=+3=b*+=b*+—-b+2ab+ab-5b°+1=a’b
2 2 8 2 8 4

1 3 2 1 4 1 3 5 3
51) =x%y® ==Xy + 1=xy® + 5=x%y = 2—xy° - 3=x* + 1=x* - 1=y® - 2=x°
) 7 Y 4 Y 5Xy 2 Y 5Xy 7 7 7y 5 Y
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5
52) m*n® - 322+ 13mn2 + 22 - 132 + 120202 + 1302 - 32m2n? + 22
5 8 8 4 3 6 6 2

3 4 3.1 .5 3 2 5
53) =y —1—-xy* +1=+= + 1%y +4=xy® + 1-xy* + 2= - y°
) Y T Ay Y Ay Iy 2y

4 1 3 1
54) 2+ 1301202 + 1ab® b+ Sa% + 41ab® + 12a%h - b
7 5 6 8 4 8 3 5
5 14 1 2 3, 1
55) —x%y —2=x3 ==y + 3 +5x%y? - 2=y + xy - 13 + =
)6 y=2.x =3y y -2y Xy mloxt 4oy
2 4 1 4 4 1
56) 4-a’b®-3—a+ 12b+3 a3 + 3%+ 128+ b-12a%°% + 124
5 5 7 2 5 5 6 2
1 1
57) a3 VD N Y I B A P VY P E
7 5 2 7 4 5 3
7 5 3 .3 1 1
58) 1—x°y® +=y-3=+3=x%® -2+ y+3=xy* +3x°y’ - 2=
) g Y Ty T3, 3 XYy y+3% y' -2g
5 3 1 2 1 1 2
59) —x% - 1=xy® - 2=y +=xy’ - 1xX%yP + Sy + = - 7wy’ - 2x%y°
)8 Y o1y m 2y )y IXy oy o m Ty y

732 2.,3 7 332 123 533 1 2.,3 3,,2
60) 1—-Xy" =Xy ——y+—Xy -2y +4_Xy +3—-Xy +3_XYy —2X
) 3 y y 8y c y -2y +a-xXy 5 y 3 y y

1 1 3 1 3,,3 2 3 3 3:,3 7 3,,3 1 2 3
61) 1=xy+ 3=y - 1=x3y3 + =y — 2xy + 2=x%y® + 1—x%y® + 1 =xy - 3=
) 2><y 6y 3 y 3y Xy c y 3 y 3><y 3y

2 5 5 44 1 4 1 3, 1, 1 5 1
62) 4= -2-xy} - 1-x3 +4-xy® + 2= +4=3 +3=x3 + 21y + =
) 3 67 77 27 "85 7 39 ",
1 1 4 1 4 1
63) 2a’b+1-a’b®*+3=b+ 1§b + 12220+ 12402 + 11ab® - 1240 - 222
6 4 7 5 8 5 5 2

1 2 2 1 1 . 2
64) 22 +1oxy° — 1+ T2y + xCy? - 1oxy? + 8= + 1532 — 1.5xy2
) 2y gy 37" TR TR TN T
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6 2 1
65) 2t s 1t e atmenz 1 imenz o2 - O s 2 - s 1 e
6 5 4 6 7 3 2 3
1 3 3,2 4 3 3 3,,2 1 3 1 3 3,,2
66) SX—3—y +3XY  + —X+ X" =Xy  +4_-X" —1—-Xy+3—X
) 27 y Hextg y 4 ORI
2 6 1 3 1 1 2
67) 2y +=x°y* +1— += +6x°%y° - 1=y + 1=x%° + 4=y - =x%y?
) 2y XY o+ y oIy loX Yy HALy m XYy
1 1 1 1
68) N — 15 + 15m2n + m2n + =mn + 4=m® + 32N + 8m2n — 127
3 7 3 3 5 6
3 3
69) 3L 22— AP + oA + 23u3 NN 1gu2v3 - 4gu2 -2u/?
8 4 5 3 6 3 7
2
70) 2+2ab? — 4a% + 12ath - 22° - 3+ + 41a% + 2a%b + 22
5 5 8 6 2
35 3, 2 4
71)—xy+4 xy +1— xy+2xy 1xy+xy+1 X%y - xy+ =x3y?
8 3 2 7
5 2
72) b+ara’h? +> +11a%02 + 230+ 2 + 110+ 22 - 32432
8 6 5 6 3 2 6 5
3, .5 1 5 .5 .5 5 1, .1 1 5 1,
73) 4=y® - 3=y +3=xy° +2y° +3-xy® - 25Xy + 3=y + 1oxy® + =
) g) T YR A2y Iy m 2 XY+ 3y Xy Ay
1 3
74) =x-2x% + 2x%y + 51x3y _ x-Syl X3y + 1352
7 5 4 8 5
2 2 1 3 1 2,,2 3 4 2,,2 1 2 3 1 2 2
75) 3—X°+3=-Xy—-2=XY +Xy—1-XY —3—-X +5Xy+4—xy° +2X
) 3 XYY Xy~ 1oXy =3, y+axy
2 32 4 2

2 2 1 1 1
76) TX°y + 1=y° + 1=+ =Xy + X3y + 4y + Xy + —
) 7X°y gV AL XY A Y ALY O XY Yy

2,,2

+ 6X°y

3 4 1 4 2
77) —m*n® + 1—-mn? - 13m2 + 22 - 220 + m2nt + 1302 = 12men? - 2mPn
4 7 4 4 5 5
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5
78) 112 - 322 - 2mn + 2m2 - 230 + 120202 + 3m? + 12 - 22
7 7 7 4 3 3 2
5 1 1 2 1 1 5
79) —y*+2y+1-xy? + 8y + 1y -3oxy + =y - 1oy +3=xy°
) Y TAYFIY A8y 1oy =3 oxyT oy m Loy 3y
4 1
80) PNV I PN SAPC N I SEP EVINP VS T
4 5 4 7 3 2

1 1 1 5 1 1
81) 1=-a’b+=-a’b®*-=a*+—-a’b+ 43b - 2020% + 31a%0® + 2142 - 20°
2 3 3 6 4 2 2

3 5
82) 21x2y +=x0 =+ 11xy3 B T L R 4§x2y
2 4 6 3 2 4 5 7 6

5 1 1
83) 2208~ 1 2 + 2 41203 - 12 - 12m? + 45m? + = - n
7 6 7 7 8 8 2 3 2

3

3 1 1 4 1 1 1
84) —y+2x°y° + 1=xy + =xy + 3=y - =x%y® + 2=y — xy + =x%°
)4y Y HIDYH XY 3y m XY+ 2y S xy XY

85) 4—X+3—XY—=2Xy  +3-Xy" + XY +2-Xy" + 22Xy +—XxXy* —2-X
) 3 2 Xy 7xy y 7xy XY 5xy 5

3 1 1 2 2 1 1 1
86) —x°y* — =Xy = =Xy + 7% = 3=x%y + 1oxy? + =xX%yP + 1-xPy - 1 %P
) XY XY XY XYLy oXyT H1oX Y~ 1

1 13, 1 15, .7 ls,,,6 3
87) A X+1_ Xy +1+Xx+3— - XYy +1X-1_Xy +2_
) 2 2 Y 4 2 Y 8 2 Y 7xy

1 2 7 5
88) 1t stz s lia se - s s 22 - L+ 22
3 7 3 3 8 8

322 2 3 1 122 1 3 2 1 3 2.,2
89) 2°x%y? +4=xyS + 3= + 25x3VP + 1=xyS — = + 1= + xy° + 7X
) p y 7><y 3 %5 y 2><y s+ Xy y

1 4
90) —u?® - 1202y - ZEuzv3 + 4gu2v2 P VY 3§u2 A o122
4 8 3 3 4 2 4 7 6

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-7-



1
91) 30t s 188 s 1t s 130120 - 230 s 4t e
8 3 3 3 3 5 3 8 2
3 2
92) 22p+ 132207 - 12 + 30203 + 2+ 4282 + 7ab - 22 + 4b
6 7 5 4 5 5
3 3 1 2 5 1 1
93) 4%y - 3=x%y% - 1oxy +4xy - =Xy +4=xF + 2=y - 1=y - 1=
)y4y YAy = XY A gV Tyl
3, 1 3, ) 3,
94) 1=a’b - 3a+2b+4 ab 2ab + ab+ ab+4 ab+4ab
7 3 3 4 7 4

5 11 3 1, .4 2 .1
D) y--Xy—2—-X+-y-1-xy+3_ X +2—-X+Xx -1—
) Y 7xy 8 3y 7xy 3 5 8Xy

2 2 1 3 5 1 3 5
96) 12y +12xy + 232 + 15y + 2532 + 1oxy + Sx3y2 — 20y +
) 1oy + 109+ oy + 17y + Xy 8><y5y AR

97) 3§x2—§xy e xy + 3X y+13xy i1 xy +36xy + 5x3y3 +4§x2y

3
98) 2udv? - 1302 + 3308 + 3502y - S + 617 + 20 — 2503 + 3SR
8 5 3 5 5 4
1 4
99) =x3y + 11x2y2 rate ot iile 120 y+—x-1 S+ ly
2 8 6 2 3 3 7 6
1 2 3
100) 2203 4 men® + Zmen + 15m2n® - 23mPn% + S + o0 4 1102 + 13 men
4 3 4 4 7 4 2 5

4 5 11 1
101) —x+2y’ -2y +1= 5 - x+1= x+4 +2
)5 y° -2y 7y y T 5 y y

7 5 2 2 1 7
102) 1—m?n - 12m% + —mn? + 62mn? = 22 - 22mn® + 2m® - 1 - 2-CmPn
11 8 12 9 5 5 11

103) 12n-13m2 - 31mPn+ 2202 + 42mPn - - + 5= + 6£m2n 1L m
7 4 5 12 6 11 11 11 11
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1,5 .1
104 3 x +6— -2—X +1— 1 x3 3 x +5 x +1 x +1—
) y 3><y > y 8><y 3 a y? y y 8><y

1 , 6 3 2 1 1 5, 3, 2 1 1
105) 1—_Xxy" ——Xy+— + Xy  —=3— -1 XYy +2Xy -2 —Xy+2—
) 5xy 7 Y 4 3xy 4 12 Y Y 10 Y 6

1 3 1 3 2 3 3 7 2 1 3 S 3 3 3 2 2
106) 5-y° +5-xy° +8y? +3-—y* = 3——y? + 1-—xy® + 4>y3 + 4>xyS - 25
) SRV TRV Y I Y T Y Ay Ay Ay T2y

1 1 3 3 2.,3 2 2.,3 2.,2 3 3 1 3 2 4 2.,2
107) 1 —+2—Xy—1—Xy° + =Xy~ — 2X +—=Xy+1—Xy+2—-1—X
) 12 2 y 4 y 3 y y 4 y 2 y 3 7 y

1 3 1
108) 31u3 - 1iu vootily 4iu3 +=uAve + VP - 11u2v3 +10u®
2 10 4 5 12 5 3 8

109) 4§b3+11b—1ﬂb2+5b2 b+1= ab2+1 b3 2bz—gb2
5 7 5 2 3

1 1
110) 2353+ 25 - —y+=x3+ 5§y2 + 3ﬂy F1ER 4 31y2 —12
4 7 5° 3 6 9 2 6

111) 2wt v a2md v on+2-Cn-on? +3-LmP + 110+ + 322
9 5 10 12 2 9
7
112) 2u+ st a2 w1t - Luraw-1-2u+ 1232
8 12 2 12 11 3

1 1
113) 120802 + 6-102 4+ T2 + 2mPn? — 22mF — ——mPn? + 202 + 6mPn® + 51mPn?
7 12 2 3 10 3

1, 2, .1 5 11 » 35.2 3 5 3
114) 6-x2 - X +6-—y + 1y -2xy2 + 1o + Sy +4-—y® + 4~
) 839 737 TR T Lt A A ST A

1 3 2 2 1 1 1
115) 1-uv® + 1232+ 2303 + 2 - 22 1 2 st 2t — 3Ly
4 10 4 5 3 3 4 4 10

3 323

2
116) 84y + 107 +3 58 + 220y +1yP - Dy a6 Lyt e 2y Sy

12 11 10
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1 1 2
117) 1103 + L a2 + 40%0°% + 6a%0% — 2.10° — La%h + 2b° + 124 - 2a%°
8 10 6 2 3 5
7 3,,3 3 3 5 2 1 2 3 3 3,,3 7 3 3,,3 5 2
118) 1—x°y° = 1—y° —2—=XVY+1—=XYy+1—=Vy° =Xy’ +5—-y° + 2X°y° + —X
) 00Xy 1Y g YT Ioxy+ 1oy y oY y Xy
6 S5 22 432 S 3 1, 2,,2 1s, 22 3 3.2
119) 6— - 1—XYy - 2—Xy" +1—X" - 1—-y  + 55Xy +1—X"+ Xy +1—X
) 11 12 y 9 y 12 4y y 2 y 11 y
4 2 1 1 1 7 7
120) 1—m®n+—m*-2=-m®n’+n®* - 1=m°n+5-m°n’ + —m* + 1—n> + m°n
11 11 4 3 2 10 10
1 3 2 5 2.,2 2.,2 5 2 2 1 2 7 2\,2
121) 3—Xx+1—-y - 12—XVY + XY +2—y +1—X+2X—-1—y° ——X
) 4 5y 12 y y 11y 5 2y Y

8

1 1 5 4 8 5 1 3 8
122) —xy? + —xV2 + 1-xy® + 6y —1—xy? + 1—-x+ 1=-X - 1-x°y? + —x°
) —Xy y 7xy 7y 9xy - > 5 y

10 12 11
5 5 1

123) —u®- 3L -2+ 402 1302+ 2B P - S8 4 552
12 10 8 4 11 2 4

7 1
124) 2u3v——u?® +3uVv® + 12evo 1ty o e ety o 1t s 2t
10 5 2 4 2 2
1 1 2
125) —a’b® + 120% + 202 + 24— 3L a0 + a%b° + 3a%b° + 55b° — 11a%
3 5 12 7 9 4 2
2 2 1 2 1
126) —m+ 5 m2n? + 5—=mn + 5o + 2men? + Smn? + 2m + 2mPn? - =i
3 12 4 7 5 3 4

12

2
127) 42533 + 12y 16232 + 5232 + Sx3y3 - 15532 + G%yz - 1%y3 + 1éx3y3

9 11 3 8 3 4
3 3 9 1 2,3 9 1 2.,3 1 3 S 2,,3 3 3 2
128) 5oxy® —— — 3=x3y® + 1— + 1ox3y® — 1=xy° + 29x%y® - Sxy® + 22
) 5xy 10 5 y 10 2 y 4Xy 7 y 4Xy 3
3 1 5 3 3 1 1 2
129) =3y + 3=y  — 153y + 3y + 453y - = + 15Xy + =Xy +
) 5 y 6y 7 y 4 y 4 y 3 2 y 2 y 3
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3, 1, 4 5,
130) 4—y3 + 6=x2y + 4—xy° + 6x°y% + 5=y — xy + 6—X° 1 +6
) 2y 5 y 5><y y? 3y Xy 9 y- y y
3 10 10 5 1., 5,45 .1,
131 5 +6 XYy 1 Xy + 25 - 15X +—X -1—xy+1
) x%y? - 1 a 1 Y2 Ty Xy Y
2
132) a’b® + 81092 + 21020 + 523 + 41 a3n? — 1202 + 20%h - 2~ a%b® + 2b?
6 3 9 5 3 12 3

4 4 1 1 1
133) x? -3y 152053 +2 y 33 -3+ xXP+ T - —y°
10 9 8 2 11

2
134) 5L v+ v+ 5ty 4 6LV - 3= + 10y - St 4 20y
12 12 3 11 5 5

2 4 . 3 2
135) —=x - —x° +1 x3 +1 + 3— x+1 =Xy +4— +6—
)3 5 y® = xy® 3 y® xy YA x%y® 9xy

4 2 1 1 1 1
136) 43mn® - 32 mend + 422 + 22mPn® - 1307 - Ton® + mPn® + Sn® +
7 5 7 3 4 2 4 2

6 5 3
137) —ulv + BoU® + 1SUAP + 5P — 1S 4 2y + 5 + Uy = 228
11 3 5 5 10 7 4

8 3

138) 3—a’b-1-a° 1
11 7

1 4
~3lp+tath+12b+12a° + 2alh +35b - 7a®
8 3 3 3 5 4
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139) 1—-X+6—Xx°+6— +4—x°y° + 1 2 +1—X+1—X + 3—X
) 7 10 8 11 y xy xy 3 9 y 5
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140) 6— —y=1—-Xy+5—xXx"—-1=XVY +2y+2y—-1—X"+—X
) 11 5y 4xy 2 5 y yrey 5 6 y

1 .1 4 1
141) 58 -11412 y PERIVIRPLEN. +43xy PE y -1=
9 2 9 4 8 2
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2 1 .1, 8 2
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7 3 ,. .1, .7
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161) =xy? -3+ y*+1-y*+ = +1=xy? +4=xy? + 1=+ 2=y
)4xy y 19yt XyTHADY T+ 1o+ 20y

3
3., 2 151
162) 5 1y +32+ X343+ -y + 14y N
12 3 4 5 8" 9 5
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163) —x?y —1-xy° =1+ 2=xy° = 3— - 2X°y + =X* + 4—x’y + =
) Y1 37 T 1 ar g Y 4

4 1
164) — - 3203 + a?b + ~a?b - 2—ab - 10°26° + 21a%p + b3 2ab®
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165) 4— - —X—-Z-X +=x+—xy°% + - Xy -1-
) 6 5 7 T 10 107 7 11 Y 1xy 2 y 3
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166) —y+ xy+12xy+61xy+5 x2y® - y+6 y+2xy 1ny
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169) 42y - 15x3y° - ZyP + 1-x%y3 - Dy + 1oxy? + 62xy? - 153y + 15
) 47y g Ty Y o gyt Iy eyt 1oy ALy
. 4 9 1
170) 2xy —1;y 2 xy +1 xy +1= xy—1 y+1 xy+110xy +1§y
1 5
171) 2tz ~ e _anenz + 68200 4 5-Cm+ a2min2 + 4 m— 2 - 13020
3 3 7 11 6 2 6 7
1 5 1 1 1
172) e 21t ie 1 Opse, 205382 32
11 12 11 2 11 4 8
173) 5= - 125y - 2y? + = + Sy? + 253y +25y? + 15 + 15x
) 7 11 yoey 3 4y 3 y 2y 3 3 y

1
174) 1L a20% + 2 a0 - 1222 + Ta2p® — 1102 + 3larp? + 11 a0 + 1302 + 12027
10 5 11 3 3 8 3 7 7

2
175) 3la2s14+62a%h2+2 +1%0%2 - b3 +5- ab+ 22 _galh
10 11 3 5 10 5

3 1 1 10 ,
176) 6n®* ——n? + 12 P2 + 22 mPn2 + 102 — 6n® + 512 4 —nd + o2
4 10 7 3 10 2 11

1 2 1 2 1 3 1 3,,2 7 2 8 3 2 1 2.,3 1 3,,2
177) 6—X +2—XY—-1—Vy +—XYy +2—X "+ 3=y  + 2Xy+ 1—Xxy  + 1—X
) 10 6 y 3y 12 y 9 9y y 2 y 5 y

7 1,
178 —x+6—+4 +2=
) 1 xy 6><y

179) xy +2x%y? + 18xy +3xy +11y° +4 xy +8y° +11 x3y? +1 xy

5 1 2 1
180) 18 2y tieesd 122,13 a3 _gavesiny
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181) 1=y’ - 1=xy’ + y+6-—x* -y +4=y+ 1-xy°’ + —y+ 1-y°
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182) 2 a+ b+ Zan? + 62— 32ab? - 2a+ 11b + 2a+ 2-2ap?
6 3 5 12 6 4 11

183) —y+55+11x +7—y 21+x +y+51x +1i
8 2 8 2 11

1
184) llx?’y + 33 +2x% + 3ﬂx3y ateoate it 36l
5 6 7 7 2 2 4 3
4 3 3:,3 2 2 5 2 8 2.,2 1 3 1 2 1 2.,2
185) 5—x° - 12x°y° = 2xy+ 10xy + 1— +7—XVY +5—x"+1—XYy—-1—X
) . y y y+1 7 oY 5 XY 1xy

1 4 1 11 6 , 5 1 1
186) —y+ 1—x°y—2— +1—= + 22Xy + 6—y + 2x°y — —x°y? + 5=
) 6y 5 y 12 y 12 y 7 y 12y y- 3 y 4y

1 3 7 5, 1s .1, 1
187) 2xy% - y® + 4wy + 1oxy - 3— +12y3 +5oxy2 + 1=
) 2" 2y 8" 6Xy 12y 107 T Y TR

1 1 1, 1
1=a°p?

5
188) 2a°b® +12-2=a’+2= +=a° +2 4132 4 ap?
4 5 2 4

1 2 3 7 5 1 7
189) =x3y® — =xy + 4=x%y + 4—xy - 3%y? + —xPy + 1=x°Y® — 1—xPy + X°y?
)2y3xy5yloxy yo XY 1oXY TRL AR

5 2 2 1
190) Bou— 12y + 212y + 653 + 2y + 3208y + 2y + —u - 3002y
2 7 6 5 3 5 7 10 11

1 2
191) 53+2x3y+5£x2+—x2 xy 3 9xy 12y +9—1§x3y
10 5 6 11 10 7

1 1
192) Lo o sten s 1 tntn+ Tmen - 120+ 33 P + 1L + Lmen
12 2 5 12 3 2 10 12 6

11 7 3 1 1 1
193) 5—m®n? - —m°n® + —mn? + 53?2 + 1P — 15mPnd + Smn® - mn2 - 1
12 8 11 4 3 2 3

1 1 1 1 1 3 1 1
194) 2x%y — =xy? = 7=y? + =Xy — 1=xy? - 1=y + 5=y? — 2=x%y + —xy?
) 2X°y 3xy 6y 5 y 5xy 6y 4y c y 2xy
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195) 1—Xx——X°y + 2—X°yY +—X -3—XYy+—Xy+5—x+1—x +5—x
)2 3y5y2y 2y3y2 2y 4y
1 3 5 7 4 1 3 1
196) =y? —1=x2y3 + 1032 + 2x%y? - 3— xS —1—=xy® + 1=y? — 15x%y? + 1=xy°
)gy Y y +2.Xy TR el oY =Xy Y
1
197) 1303 29 22p3 + 2 L0202 4 422202 + 2a® — 1010%0° + 1288 + 21a%° + 12212
4 11 10 9 2 9 9 2 5
2 1 2 1 3 1 1 1
198) 8x%y° — 2=x%y? + 53y + 1ox%y + 1=x2y° — 15x%Y2 + 1—x%y — 1=x%y3 + 4=x%y?
)ygy XY Xy T1oxy Y XYY g<Y
7
199) 11022 + 2+ 42082 1 422 11020 - 333 228 + LA m 1
4 9 5 12 8 12 9 4

1 2 2 1 1 1 3 5
200) 1=x3y + 1—x3y3 — Sxy? + 2x3y + 6=x° + 1=xy° + 3=x%y + —x2 + 2=x3y°
) 3 y 11 y 3xy y 8 4Xy 6 y 5 6 y

8 7 3,,2 3 3 732 1 3 732 1
201) 4— +8—x°y“ + 17 +9 - 3—Xx -1—+9 -3—X -1—
) 19185 y Xy~ + 9xy 9 y 3 Xy 9 y 3

7 7
202) P LT 1 S TV B P S Y Y SRV B AP S Y
12 9 13 15 11 15 11

13, .83 5 9, 3, 13 5, .3 5 13 5,
203) 19°x%2 + 10°xy3 +——y® = 6-—y® = yx - 8ox2 — 6-—y° = ~yx - 8>x
) 19Xy A0y Y O Y T 8 137 "10™ 8

2 2 7 7 7 7 9
204) 2x% + 7=x3y® - 1=xy® = 8—x? - 8—x%y° - 3—xy® - 8—x® - 8—x°y°® - 3—xy°
) 3 y 9Xy 8 17 y 1sxy 8 17 y 1sxy

1
205) = + 9ix3y3 —1 253180 - 8ix3y3 ~4% 1503 gty y? —4—
7 12 17 7 19 77 19 7

3
4

2

Za%p® - e;ﬂab2 - 16ab° -4 2
3 9

4 4
206) 1—ab®+—ab? + 1 - 16ab® - 4 ~a’b® - 6—ab?
19 3 9

11 1 4 4 1 1 4 1 1
207) 1—m’n®+1-m’n+1-m°n? - 1-m?n - =m°n® - =m?n? - 1-m?n - =m°n*® - =m?n?
12 5 7 5 4 7
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13 4, 1, 5 13 1, 5 13
208) 5oxy+y——-X-5-X - —y-5"xy-5-x*——y-5—
TR oF "1 1Y T T Y

5
209) —udv® + atw-1ant - 1-lu 1t c 62 - 1Lu+ 1A -
11 11 10 2 13 10 2 13

1 1
210) o2+ 12+ 1t -t S 122+ 12m - L S 122+ 12
12 7 11 6 3 3 6 3 3

11 4 11
211) 7320 = 16mPn + 6mm® — 2mn - 41 m? + 1 mPn - Zmen - 412 m? + 12
4 16 5 16 14 5 16 14
13 11 2 3 2 3
212 1 2 “y-2"x’y-5— -1— -1—y-5— -1— -1—
) Xy 16 y- 20 XY yx 13 y 10 y yx 13 y 10 y
5 1 5 5 1 5
213) 6Lm+ 102 + 1S - 2n® - Zm - —mn? - 2n® - 2m - —mPn?
8 8 11 6 2 17 6 2 17
1 1 1 4 4
214) =u® - —uwv? +=v¥ - —viu - 5iLys_ 22y Ay ositye 22y
2 19 3 7 19 11 7 19 11
13 7 5 1 3 4
215) —x3y? + 1—x3 + —x%y? = 32X + ox3y? + 2= x%y? - 323 + —x3yR + 2—xPy?
) 18 y 13 16 y 8 5 y y 5 y 5 y
216) PRSI o AP I JIC S S S U D [E S S S A
10 5 2 3 13 7 3 13
4
217) 121uv -—udvi + udv - 10£v+ liv u- ZEVU - 10£v 1iv u- ZEVU
2 13 12 11 19 12 11 19
8 213 9
218)6 Xy 3 xy —3 y 11y - 1 yx 5 y -1ly - 1 yx SEy
4 1 9 1 3 1 3
219) —x—-— 2 20— —-3—x+ 1 -20—-3—x+ 1
) 5 5xy Xy 12 11 Xy 12 11 Xy
5 ., 5 9 7 119 ,, 7
220) 4—X°y“ +4—x - 16— —19—=y-6—y*x} - —x-19—y-6—y*x® - —x
) 13 y 6 2y 16y 19y 8 16y 19y 8
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2 7 16 16
221) —m’n-— - 1tmenz— 1202 - Lramenz - 1202 - 2om
5 12 3 3 17 3 17

1 3,,3 1 2,3 2 3 3,3 1 2 19 3.2 3 3,3 1 2 19 3.2
222) 6—XYy - 1— XY +y -1-yXxX -1y -7y X -1l-yx -1-y - 7—yX
) 12 y 10 Ty 8y 3y 20y 8y 3y 20y
6 2 1 11 2,,2 1 2 4 2 8 2,2 1 2 4 2 8 2.2
223) 2—y? = 3=y - 1-ox%y? — 12y - —y? — 1y — 1Zyx? - —y? — 1——y?x
) 17y 3y 12 y 2yx 7y 13y ZyX 7y 13y
224) 9—x"+10—+2xy" - 15x"+1—xy" - 9— —15x" + 1—xy” — 9—
) 9% Y 8" 4 87 "4
1 1 1 1 7 1 7
225) 9= -1—ab®-1-b*-a’b-5-a-6—b*-a’b-5-a-6—>b?
2 10 9 5 13 5 13
2 1 3 11 11
226) —m°n® +=n?+-—m° - 18mend e 1- L e 2 218 11 Lo o 2
3 4 4 7 7 15
7
227) 71x3y 22yt —x3y® - 81—Ox + fﬁix3y3 + lgx3y - 81—Ox + CS.EXSy3 + lgx3y
2 18 8 19 19 3 19 19 3
7
228) 3202+ L %o P 1Zn -t - P12t
20 9 8 9 9 9 9
14 3 1 13 3 1 13 3
229) =Xy + Xy + 7-X%Y - 1 —xy? + = + XY - 1 —xy + = + =Xy
) 15 y y 4 y l5xy 19 7 y l5xy 19 7 y
5 , .2 ; 2 , 7 2 , 7
230) 1—xy“+2—x+12xy° -3y +1—xy " ——x—-3y+1-xy ——X
) 14)(y 3 X y 3xy 19 y 3xy 19

4 5 4 S
231) 42230~ 2ap® + 4208 — 2pa— 21 - 7 pa® - 2pda - b - 71083
16 6 9 9 8 9 9 8
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232) —V? +9—UuAV? +4— - 6ov-2 41222 —6Sy -2 11222
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233) 16v + 1iuv2 VN ZEU -—v-—ui?®- Ziu -—vV
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You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

- 18-



2 9 5 5 9 5 9
234) =x3y° - 1—x%y ——x3 +5x3 - —x3y - 1— X%y + 5x° - —xy - 1—x3°
) 5 y 20 y 14 11 y 11 y 11 y 11 y

9
235) —m+ 12m+et smosim o1t s mosip o
11 7 12 2 18 2 18

4 2 2 2
236) BBy — B2 — 21— 1007 — 250y - ZUAV2 — 100° - 250y — 282
5 7 17 20 3 20 3

5 2.,3 1 3,2 3 3,2 8 2.,3 13 2 3,2 8 2.,3 13 2
237) 4—Xx +—Xy° + —Xxy - 3X°y" —1—X - 1—x°y - 3X -1—xy  —-1—X
) 6 y 16 y 16Xy y 9 y 19 y y 9 y 19 y
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238) 1102 - 12m%n + 200 — 160m® + 2202m + 20— 160m® + 2102m? + 1n
5 9 2 2 2 2

5 2.3 1 2.,2 1 2 2 2 5 2 2 2 5 2
239) 4—x“y° + 6—Xy° —3—x° +6X° - 20y —-4— + 6x° —20y° - 4—
) 8 y 12 y 9 y 19xy y 19xy
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) 8xy 19 10y 14yx 10y 3 14yx 10y 3
5 11 11
243) —mn® -2+ 32 Pn® — min® - 2= — 82 - mPn® - L _ g2
6 19 13 19 13 19
244) 1L a2 - 11+ 2302 11020 — 120202 - 3257 — 11a% - 120202 - 3248
19 3 14 6 7 6 7 5

8 1 1 1 5 3 1 5 3
245) =y + 5=y + 3y -y + 1y 43—y - Sy + 1oy  + 3P
) QY TGy IV Y o’ ""14” T¢’ o’ "1’

17 1 5 17
=Ly? - Exy — 3252y - 7Ly

8 1 1 5
246) 2x°y° — 1—xy + 1=xy> — =xy - 3=x%y° -7
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2 17 14

4 1 4 2 1 1
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1 3 10 6 7 10 6
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255) 723, + 320 11 , o5 11 18 . T,
157 7"

18
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269)
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3 1 3 3,,2 1 1 3 34,2 1 1 3
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8
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44 46 39 16 26 13 10 23
11 5 37 2 17 17
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35 7 50 13 2 23 37
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1023 +8-2 -=y?|+(1+ 15§y2 ~1232) - (a9+ 151y2 19232
10 7 23 50 20 43

2 , 10, 6 3)_(£

26 7 6 3
2 2 3 2 2 3
~12x%y + 40xy°| - [4——xy? + 19-x%y + 23—
Y 10Xy xy) (Boxy Xy 22xy)

20 2,,3 2,,2 7 3 7 2,,3 4 2,,2 13 2 2,,3 16 9 3
431) |1—xy —-2xy - 1— 1 Xy +1 XYy +1—y| - [=XYy + y+ -
) ( 41 Y Y 17Xy 26 Y 4 Y 45y 5 Y 23y 20Xy

6 4 17 13 2 1 2 7 2
432) [—=udv+—udv - —uV?| - [—=uPv + 62002 + Liav2| + (22202 + 73002y + 282
5 41 24 44 42 11

1 15 18 19 19
433) [1=x%y® - —=xy? + —x%y| = |[1—=x%y® + 50x® - 7x?%y| - [15=x3y? + 8—xy? — 32x°
) ( XY Xy y <Y y 25 45xy

43 s 2.5 (5 . .25 .. 31 13 5 .3 44
217" — 4xy® - 15533 - [oxy® + 122 + 23y? | + [ 1=x + 22 =xy® - 15x
Vs y) (3sxy 39 Y 47 o7 T

3
34Am?n® + 1gn3 -~ 37m2) + (22%m2n3 + ;mzn + 18im2) - (QEn m?n + —m?n

13 41 31

3+ﬂ2 2 5,
38

23 2 17 4 8 5 3
23Xy + 12—y - x| + | =Py + 1oy + 1—x| + [6=xy® + 1-—x+ 25
FE Y )(39y 77 21)(7y 17 Y

u+ 2E + lguv3 - 20§u2 + 1E + iu + 5§ - llu + 7£uv3
20 8 8 33 13 37 18 19

6 , 1, AT N 3 ,,.18 3 33 33,24, 5,
1—XxX"+—y + X -1l o xy + 1y | - (1A Xy + _Xy+_X
6y a4 7 22xy 19y 34 Y 35 Y 22

30 8
441) |a* + —a+47a°b| - 2 ath+ 1§a2 s78) - 1£a + 11" a2+ 2a2
37 3 46 48 13 12 9
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19 , 5, 9 , 1 29 S5 5 2 9 , 3
—X° +3—XYy+ 24— + 1=y + 53] - |19x%y + 1— + 2X
32 21 y 19y) ( 38 y 37 y 8 y 26Xy

29 19
443) 28020 + 22 + men| - (16%mn2 + 12280 + 2310) + (18 men + Brzn + 151
47 42 7 33 2 11 49 16

17 13
41t - oow) + (158 we + 22w 2028+ (R + 20280 + B

7 2 17 47 13 32 43 25
7.2 17 .25 , .15 , 3, .16 .37 ,

445 2—X 1 10 2—-10— +1— +|7T—Xy—-1—y+1—
) (229X Yy m1gy- ) ( 20 “ar” 19)(y) ( 1377 3Y T g

1, 32 7
uv + 17£u + = 1YEU +—ud+16— 13 u’v| - [—u?v - 1iv - 1iu3
24 2 27 37 50 1 17

x+1%x3y+151)—(6 xy+3§ix+18lg 3y) (7£x+251 y—£x3y)

37 ) 0 .10 o\, (4 2 12,5,
450) (=xy - 1=-xy® - 22x X2y% — —xy+1— oxy? S
)( Xy =1, %y y) ( y? TR AN 50><y Dy -1 oxy

13

451) ooy + o3t b+ 158 22| — 29222 + 21> ah® — 322>
24 45 12 48

ab®| - slab3 + 21§a2b2 -9b
24 5

1 15
452) [=mn+ 6 mn + 285 mm) - [18mn + 25 2z + 62 mn2 | + (1352 - Rz -1 1
19 37 23 44 39 29 6

1 1 14 6 2., 1 21
453) 92\ - —uv RN B PNV P NC) D Y B PR
23 2 36 15 7 5 3 41
11 5 17
454) 18— 10 y? * x%y® —32s) . —x%y°® + 23258 - 11xy2 - 1ixy2 + x4 1503
19 26 12 9 3 14 26 29
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155) X4y
317 Y0

3 2 2 2 3 2 42
S 3y2 4 255 36Xy + 16— x°y + 1=y?| + | 2xy + 22=y* — —x
y? y)(xy 16y5y)(xy 2y Xy

1 1 25
456) (—u- 120y + 12028 - (1280 - 1B - Loy + [ + 202 v - 13
11 5 39 32 10 37

50 14 19
457) %xy - 1%x +23 17xy ) (12—23 + 26xy° + 15%xy ) (12Exy - 1% - 1 % )
458) (Zo%xy"s gxzy3 + xy) + (3x2y3 + ls;xy - gx3y3 - (1;—3xy + Exy3 + x3y3)
459) (%x2 - 1—4y2 - xyz) (19 y2 + 9%xy2 +1 x2) + 1%xy2 +12%0 y2 + sl—ixz)
460) 11—5y2 1§y3 + 2—xy3) - (5 xy® — §y3 3y3) (1 %yz - 1%xy3 +17 1x3y3)
461) 11—;y3 + 11%y - 1§x3y3) - (1 381y 1%x y-1— ;i Xy ) + (1436x3y3 + 15%y3 - 1§y)

462) (22— 7 oot + 23503 + 77p2) — [ap2 + 1222a%h - 21| - [11a%b® + 31 a% - 12 a0h?
26 35 9 40 13 5 16

| ?
21, 31 ,, .22, 355,612 42 15 27 2, 5125 2
463) ([20—y +1—xYy - 1—XYy|—|22—Xy  +5—y° - 6—X+5—y +21—
) ( 26y 34 y 25 y 44 y 2y 7 y 47 34y 42 X
2
164 (372b-252 — 123 - (242 + 301 3) 4 [2 41322+ 211
25 16 15 17 11 17 3 13 22
15, .1 12 31 , _ 5 9 2\ [,474,1 4,530
465) (8—x"—-1— -2—X 1— +20—X+6—X"|—|2— —X
) ( 7 1Y 25 ) ( 437 TR g ) ( 2 13V T8y
1 1 4 11 13 2
466) 1380 gt e e 1) - 22y e« e + (2208 + 32w - 122,
50 30 49 15 18 12 48
19 15 2
467) |1— L +813 m2n + 1122 - —mn+153n2——m2n + 24im2n——n2+8£mn
50 42 44 24 46 41 13 3 43
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1 1 13 4 1 9
468) |~y + 12— -1>x 22— -2—X 1= +15y? +—
)(3y 46 2 y) ( 9Xy 15 21 y) (6 3y 2exy)
469) 103, - —v 18|+ [1tu-1 22— 1208 C (1 2y 5 h A e 151y
29 6 11 50 21 11 2 2

262 1 2 1,, 3 4, 13 , , 14 33,
470) [19—=x?y + 17—x° + 19— — =Xy = 29x° ——XY| - |8—XY +1—y° +2—X
) 47 y 36 15xy) (8 y 15 y 20 y 3y 38 y

471)

CD|I—‘

3, 31 8 21
2=x3y? + +9—x 16 +21 += x =3 - 13y + 188
Yy +y° y| +(16y° X%y y|+ 36 5 y 23y

2

\‘

7 11
473) |13 3122+2 uv+ u3v—11022+713uv3+3i 24622 w? + 202
44 22 17 16 16 41 40 5

29

21=—"n 19 m®
41

+24—

474) + o

mn im3 + Cf.in2 - 1Zmn + 171—6n —~ 11mn - 1in2
11 46 9 49

1
3 6 27

2 2 7
475) =X’y + 7 X2y? + 352) - (13x3y +123+ —3xy) + (1—9x2y2 +182

3 3

472) 2 —mn+ 5 m 0%+ 208 + (23203 - 13m + 1O§m3n2 {10z + S - 12m
7 26 7 25 12 37 5

( 21 4 27

23
3 2
X’y + 13—x
21 46 8" g y)

2 5 2333 14 ;5 14 5,
476) (31 + x +9 > 4==xy + 23=x3y? + 20== 153y - —x32 + 7
) [31xy y y)(8xy 3y 50>/)(17>/29y><>/

5 41 11 39
477) |2xy? + = x +2x%y?| = [x?y? - 2x° + 3= 7T—+3=x3y? 1%
) (297 Y y) ( y exy) (47 14 Xy 46

28 9

479) (2a%b+ 1= a+1114) (20 %+ 18—a? + 1~ bz) (1—b 11a2 - 11)

478) (17— 19 22 + 68 mn2 + 723 mend) - (13 m2ne — 2mn? + 1 2m2n2| - (52 m2 - 2 men2 — 1222
41 25 40 50 40 37
( 21 18 11 37 8 20

3
480) (2v3 + 10—u o128 W2 + (a2 1191 2 2u +|=v3 + 20g P
41 3 7 4 44 8
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481) (2227 + 120532 4 Tx) + (1293 - 2250y2 + 122x) - (1254 25 L y3 - 120532
46 21 2 12 12 23 41 33 43
6 3, .20 5 3234 37 33 2 5. ,3
182) (12502 - 2202 + 135:0y3) - (2420537 - 23 + 1-253y2 | + 45y + 123 +12
)(11 Yo s 5577 "9Y s < v 16 v Xy

6 11 21 1 1
484) [—a+14—=a’b®+—b 1326° + 20a%b® - ~a| + [—a - 2—>a%° - —b?
47 15 22 3 16
25 8 4 16
485) | ==X’y +23+ 10+ [1tee+ 2 o 13—6x3y + 11ix3y——x2 -=
32 12 11 15 23 40 9 21
10
4386) 413 y+y ——x3y + 18£x2—1£y2—1gx N PEN LU —y°
19 45 18 3 30 18 11
11 5 , .1, 1 5 5 . 19,
487) | 7T—x— 1—x + 22— 13— = 1-XxX"+2y|+|7=-y—-1—x"+10—Xx
) ( 50 Y y) ( 14 2 y) ( 2y 19 25 y
1 21
488) 12 uv +9—u+2429 19uv? ——u+1E 1£+41u
1 49 10 25 32 11 4
5, 6 28 23 , 4 23 , 26 7
489) [2—x“ + 1 x +13— -1—xy-1—X +|2—Xy+1—xy+8—
) ( 33 Y 7y) ( Y 33Xy 37 Y ) ( 34 Y 29xy 9y
17 4 s 31 45 27, 15 19 2, 21 ,
490) (16—x° + 5— +2 43xy° = T—X> —— 16 +14—y“ +1—X
) ( 45 Y xy) ( Y 48 34 xy 30y 40
54 2 32 23 2 9 7
491) (1=x —1—+22— 46y-— -1— 22— ——x
) ( 8 13y) ( y 45 26 y) ( Y T 10)
3 3
492) (11= 18 2 _ 1]+ (2002218 1 3m) - 5+ 13 e + 22
31 4 44 41 4 44 34 14
1
493) gu v+ u 23 + 7£u vt 13 22u ve v+ (252 4 11—3u2v+ 1122
39 41 4 25 25 30 34 3
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494) (1i—zx3y +22 - 20 x y3 + 18xy) ( 19 x2y3 + 23%x3y + %xy) + (1%x2y3 - 1§X3y - 1§Xy
495) (1§xy + l%xzye‘ - 12;45x3) + (%xy - 1—:;x2y - 4%%’) + (10% X3 —xy 13 2y2)
496) (81—15y +1>x%y? +13 xy)—(y+8xy2+23 xy) ( y? —1=xy* + 22 x)
497) ( 1—ixy+14—x+1—x y) (3—x y+23—xy°+3 y) (9x y+1 y+1—xy2)
498) (1%ab a’b? + 11 abz) - (1 Lob+ SSaZb2 1-a bS) (ab2 +10—ab + b3)
499) (2127 +18 Lz 52 ) ( Ob2 a3 421; ab ) (221 a3 +ab® + 12 Obz)
500) (15§—§y3 + 123—19 y3+6— 89xy) (léxy + 21%xy+ 36y ) ( %f + 127xy +12 1—3xy)
501) %x“ye‘ + 1§x“y2 + 5%x2y2 + 1%X4y3 + X2y? — 1§x4y2 +x%y° - 1%x“y2 + 5110x2y2
502) lgxy - 1%x2y3 - lgy3 + léy3 - gxy - 1%x3 + 1éx3 + 1§xy + 1§x2y3
503) 2u® — 2t o180 1300 £ 208 C 32 + Ut + 1200 — BV
3 7 4 3 3

504) gxy +=xy+=x>+1=xy —%xz 1=xy +2=xy — =X ngy2
505) 1-y* + xy -33yt + Sxy? + 1ox - Xyt + lix3y4 + Ex3y3 +3ix

3 4 7 10 3 4
506) 8x%y® +— xy 3 xty? +47x y? +3x%y° —gxy+ lgx3 + 1%x3y3 - 2%
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507) 22002 + 320302 + 15 + 13a%02 + 42 a%h% - 3 a%% + 51 +
3 9 2 4 9 9 3

1
508) —m?n*
3

1
509) —mn?
6

1
~a’p® - 21a3b3
6 2

3 2
+ 11n3 -mn?+=n®-9mn? - 1im2n4 + 1§n3 - Zm?n* + 11mn2
2 7 10 9 9 4

+ 200+ 12080% + mPn + 202 - 200?420 + 2men - 130
6 8 5 4 5 9

6 1 4 1 1 3
510) —y* - 10y’ - =xy+1-y® + —y* + X’y + 1=y* - 2=xy + 6X°
)7y y Xy rloyiao oy y*rl,y -2y y

9 5 1 1 1 2 3
511) —x** + 15x3 + =xPy + =x° + 1=x2y° — 7xY* + 4x%y - 3=xy* + 5=x3%y°
) y ) V'3 XY y y=3.xy g<Y

10

512) 11,2
2

st +38 1t s 2t s adievt s L 113
7 2 5 5 2 5

2 5 2 5 2 1 1
513) =x%y+—xy® + =x3 + —xy® + 2x° - 2%y + =Py + 1—x* + 3=x*
) 3 I 3 9xy y 3 y 10 2

514) 1%ab2

6

+23b4+1 a‘b*+1= b4 4b4—£ab2+1 a*b* +5= ab2+ b4
3 3 2 5 6

1 1
515) —a’b-=ab®+ 1= 3a%p% + 52 ab3 %02 + 21a%h? + 3-1a%h® — 2L a%® + 2a%h?
3 4 7 9 7 10 9

516) 11
9

517) 1 %2
10

1 3 1 2 3 1
- 1=xly - 2=xy® + 2=xy + 5oxt + xy® + 3=xty +4x + xy?
4 y 8Xy S y 3 Xy 5 y 5 Xy

1 1
IV I NPT N +2y+2X - ol Y- 78
4 2 5 2 9

6
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518) 5=x'y - 1=x3V? + 1-y* + 1= - 3=x%? - 2=y* + 2=x* + 5=y* + =x
) 5 y 5 y 5y p y 6y c 6y c y

519) 1954
7

1 3 2 3,,2 1 2 3 3 4
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3 1 1
520) 120% — 2mPn — Smnt + 15m+ Smen® - 22mPn? + 55m - Zmn - 21 mens
5 4 5 3 6 9 5 8
4 8 ,
521)xy+1 xy 10+6+— xy 5xy+1 xy 1xy+ xy

1 253 1,5 5,5, .5 14 3.2 1,4 1
922) 1 —X+ -y —— XYy +3_ XYy +1--—y +4—X" -4_xXYy -1~
) 10 5y 4 Y 6 Y 6 2y 10 6 Y 6y

3
3 3 2 7 5 9 3 3
523) =X’y —=xy +—=xy* +3— - 2xy + 1=xy* + 3—x’y+ 1=+ =
)4 y 4Xy 3xy 8 X 6xy 10 y 5 7xy
1
524) 3L Pn+ 12m - 11mn® + 15mn - 9mPn® + 2m + 300 + 18Pn® —
7 4 5 2 8 7
2 1 5
525) m ¢+ 1 0 +—m4n+2m4+22m4n+—m3n2+5§m"'n+—m4+1§m3n2
8 5 3 7 7 7 4
82 4124, ,1o 1o4. 1, 14 62,6204
526) 5X'y+1—y - 1-XxXYy" +4— — XY +=X'y+1-Xy+8=-y  +—=X
)ygy Y FAGY XY A OX Y+ LoXy 8oyt Xy
5 4 2 5 6 5
527) 8xy” +8x'y + —x°y* + 1= + 1=x® + X'y + 2=xy + 2—xy* + 1—y°
) 8xy yrgxy rig+1o y*r2 Xy+2oy i+ 1y

1
528) 15y% + 2y 1> x va2p 32y e g9 02 s 1
) y y y? 9y 9y y? 10 y? 3y y
1
529) 2u’v + 323 — 1800+ 230 122y + a2utv 428 1 ity + Lavs
7 7 5 5 3 3 5 2
7 o2_2 44 33,4 3 1 5 344,144 2 5 3
530) 1—xy? — =x*y* +3=xy® + —xy® - Sxy? + =xy* + xyt + xy? - 1=
) g TEXY I YAy Xy A XY A XYyt = Lxy
4 5 4 4 1 5 2
531) y*+5—xy’ —1=y* + 5oxy’ + =Xy’ + 2=yt + —y + 2=y - 2x%y°
) Y Y TIoY SOy XY R 2Ty Ay 20y y
5 1
532) a 202 4+ 302 — 12a% + 42a%b* — 2a%h? + 5a’b + 1-a2b? — 3-ah® + —a’b?
10 6 4 9 4 9 3
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1 2 3
533) 4u’v* +=uv + 2 LU+ 2+ 1A + 1oV + 22 + 3502 + 4ty
2 10 3 4 4 8 4 4

2 1 5 4
534) 422 2 0+ 52mt 4 22m+ 4Lt + Zn o+ Sfnd + 2n - 2
7 2 7 3 10 3 2 6 5

gl,2

535) 3§x4y4+5x = xy 12 % +52x e xy += xy += xy 3

1 .1 2 2 1
536) 12 ab — 12+ 1202h3 412 + 7ab® + 120%° + 32a%h + b + 1
10 10 5 9 7 5 6

3 8
537) 1lural e 2t e 8120t - 130 2 2y a2 r 4t
3 10 10 9 8 4 10 9 2

1 a3

538) b3+12 16a+ 12
3 TR

13b3+ +4— b3 3b“+3a2
10

1 4 9 1 2
539) x° +4=x%y - 1-xy + 7xCy —— + 3=x%y + 2x + X°y - =x°
) XY~ 12Xy Y=10 73XV Y3
4 1
540) 2 ap® +52a2p® — 2 b+ 2p + a20° — 11ab® + 2a0° + 422%0° + 1b
6 5 4 9 6 5 2
2
541) 1%x4y3 =x’y? +5= xy+1;xy +16xy +29xy+ xy——xy +41xy

3 3

3 1 5 3
542) X ——xy+5+——1§y+ =3 + —+9§x3—2§y
7 10 6" 7 7 4 5

5 1 1 4 1 4 1 2 3
543) 5=x%y* + 1=x'y +4=x% + 1—x® + =xy? + 1=xy + 1=x% - 2=xy? +=x*
) 6 y 6 y 3 9 3 y 5 y 4 3 y 4 y
1 2.4 5 2 8 3 2 1 2.,3 3 2.4 2 3 1 2.4 5 2.,3
544) 1—x +1—XY+—XY+IXVY+3—X +4—X +2—Xy+5—x + 3—X
) XY YT XY y+3.xy XY o< YT OXY gy
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)8 y c y c y 3 y 3 y 7y c y 6y y
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546) 1 s 2t s 3v s 120 o - 1300w+ 1202 + 2208y + 12002
2 4 5 3 5 7 6 6

1 , 345 09 4. .1, 9, 1 5 4 , 5, 1,
B47) 1-xy2 = 15X —9—x* +12y2 —1—x* +32xy° + 1 xy* = 2°x° - 1=
V1Y 1 10 2 "7 10 3 TV T4 5

1 1 4 1 5 1 1
548) 1-y* -5y° - 1=y +2y* + 1y - 1—x%y+ 1=y + 1 —x°y - —y*
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1
550) 3x%y* + 1§xy4 + S%X“y2 +xyt - x%yt - 1= 9x3y + 1 xy P x2y* — oxdy?
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551) 9=x%® + =xy® - 1= x3 + 1—xy? = x*3 = 10x%y? + 1—xy? - =x*y* — 3=x%3
) 3 y 7xy y 9><y y® - y 1Oxy > y* - 3 y

S 4.3 3 34 S .23 2,3 134 1 6 >
552) 1—x -1—x +1—xy° + 2x - 3—Xx +1— x +2 +
) - y 3 y 5 y y 3 y' - 8y y? y 3xy

1 2 1 3,,3 S 4 1 3,,3 S 2 3 4 3,,3 1 4 1 2
553) 2 XY —1-Xy ——Xy" + 3 XY —1-XY+5—xy + Xy ——-xy' ——X
) YTy =y # 3T~ 1oXy + 5 xy y oy = oxy

3 1 1 4 9
554) = - 2x%y% — 1=xy® + 1=-xy - 3x%y® — 1—xy® + 4x%y® + 4—xy® - 2
) Y o1y Iy =3y - 1oy y A Y

2 1., 2 2 1 3
555) 1=x* +4=y* +=y® + 8xy" + 8y® + 8xy + 1=xy - 1=x%y* + 5—x*
) 13 g) TV PO By 8y 1y - 1oxXy 45 o

556)4 y +1 xy +— xy +— xy 2§+2x4+1§x4—1%x3y“—1%

2 4 4 2 1 1 1
557) —mn* + 7—n? - 23men? + 12 men? = 12m2n® + 10302 + 15mPn2 - 1302 - 33me
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3 1 3 1 5 7
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) 2X7y - y 6xy c y 0 x*y® - xy ) y - y 9xy
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559) —a*b? - 32a20% + 11020 + 22a%h + 42a2b" + 1—ab® + 2ab° + 1~a%b? + 2a%b
5 5 5 6 9 2 6

1 1
560) 1 m2nt + it + 12202 + 200+ 13022 + 12020t + 20+ 2t + 4 tmene
10 5 8 3 8 9 6 3

561) 3§x +43 2~ ij +1gx e xy +1= xy+5 xy A43x2 -2
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562) 2— +2=x - 2=x°y° + 5§x2y3 3 gl 303 1=x%y?
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3 2 1 4 2
563) at+— +3= ab+5a +56ab+1 +4=-—ab-2-a*
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2 1 2
564) 1§uv2 Y I A BV ST Y lgu2 —ut?
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9 2 1 3 7 22 2.,2 4.3 2 2
565) 1—x°y — 3= — 2X°y? + — x +3- + 6X + 77Xy’ —1—x
) 0 y > y? y* b Xy y y 3 y

566) 10n* + 13 v 1 i e 33minz 412 4 I
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1 1 2
567) 1t e i s eaty o33 2ns 50 22 sty 5 lae
2 3 7 6 4 5 10 2
3
568) utv? - 1302 + 70ty + 12002 + 520 - 1302 + 2t + 1108y + 52
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1 3,,2 S 2,3 S 1 1 3,,2 1 2,3 S 3,,2 2
569) 1-Xy +2— Xy —1-y+__Xy+ Xy +1_XYy +5_Xy" +2y—-_—X
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m*n* - 3m+ 8in4 —(m?n*-10+ lim (= + 131m3n +2m
15 10 5 2

7 1 2 13 5 14
+ 80y - 31x2y3] - (42523 - 20 2y + 12532 | - (12533 + 2L x3y? + 522
Y 9 Y 4 Y ( 13 Y 16 Y 9 Y 13 Xy 15 Xy 15 Xy

[e9)
winN

1 2
uv + 203v + =u?| - 83u3v -—ut- Ziuv + 1iu3v + 7§u4 - 2uv
3 7 17 10 13 8

m?n® + 4§m4n —~ 11m - 1gm —~ §m4n —~ 1m3n2 —~ lm3n2 +1— 1 m?n° - 3im
6 5 3 4 3 11 19 19

+xy|[+(3-xy+10x7y + 11 +H|oX + 1 —Xy+3—
xy XY) ( 2xy y+1llxy ) (7 16 y 18Xy

1 3 11 3 4 3 4 2.,2 2 2.,2 3 1 3
723) [1=y® — 2xy® + 2x “=y8 - 1=xy® + 10— x| + [15x%y? - 13xy° + 5=
) 2y xy® y) (14y 5><y 9 y 3 y Xy 4y

10 5 4

1 1
ulv* +5 1u vZ —12ute| - 101u4v3 +—utvi+ v
17 2 3 15

1 3,2 1 2 7 2 3 2 3 2 3 3 3 2 3,2 13 2
—XY -y =3 X=X -3y -1y | - |y -1 Xy + X
Y 2y 9 13 13y 5y Y 5 Y 20

1 5 1 1 1
726) (3=b? + 2a%b® - —a’b?| + 42 2202 —gp + 101a%0?] - (202 - 1+ 1L a2p°
2 6 11 4 13 10

|
o
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|
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|
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728)

1 13 14 5 3 1
16y - 1=x%* — xy?| - [3==xy? + 1 =Xy - Zy| - [9=xy! + =y - 11xy?
y=1-xy xy)(18xy 19X T |9gXY gy by

3
729) 1§y2 + 12x3y3 13y + 10£x3y3 + lﬁx“y4 +62) + [20¢ + —xty* - 11X3y3
8 7 9 17 15 13 10 2
4 8 5 4
730) [=u® + 520 08 + S| - (a2 unve - 322yt o) - (et + 1y + A
5 17 9 11 12 12 9 5 5

11

3 1 1 3
10=—a’b* -—a%b +4=ab®| + 1—6a2b -=
20 19 2 17

a’b? +5£a2b4 -2 3
5 2

—a’b?®+ lla"*b4 + 1a2b
10 3 2

7 5 1
732) [—y-19 + 1=xy*| - [1—xy* + =x%y? - 2=x3 X2y +1-y - =x3
) 27 Xy ) ( Y XY y y=35
12 2
733) [2m®n* + 3t 112 e - 51—0m3n4 ~ 2t Zent) - (3 nent o ment + 13 e
12 15 17 17 3 2 12 4
1 1
734) |[—x%y* + 23 x4+ 9iy + 7Ex3y4 N ~y| - L 18iy + 3£x3y4
10 17 16 15 20 8 20 15 14
=S 4 Ty ﬂ 4 w3 ﬂ 2 _ l 4\ _ 3 4 4.3
735) [11-—xy° +—xy“+1-Xx"| + Xy Xy X 6—xy” + X" +8=X"y
2 9 7 6
1 5
736) 7£x3y4 —1253 280 (139, 15x°%y* + =X | + [ =X + 91x3y v1t
11 15 14 20 5 9 17 3
4
737) 1801t st + [Av+ 7B s3tiay) S (arv s 9 tte 46t
20 2 5 18 6 16 9
7 2,3 6 2 1 2 1 2 1 2 4 2,3 1 2,3 11 2 1 2
738) [8—Xxy  —2-——xy" —1=Xxy|—|[7=Xy+1—xy —-1=X +|=XY +5—xy° -1=-x
) ( 20 y 17xy 5 y 6 y 8xy 5 y 8 y 13xy 8 y
5 1 2 13 2 1
739) [Za’b-—a*b-1—ab?®| - [—ab® + 221+ 93 2% - [12a%h - 1-2-ab® - <a’b
6 14 13 17 16 10 8 13 9

1
740) 13a% - 120 + 71a%) - [La%h - 32a%0 + 20a*| - [2-L-a2b + 8 2a% - a%b
4 8 5 2 5 10 20
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1 1
741) n+ 1—min+—on2) + (130 + m+ 1n2| + (1002 + 6-Lm+ 3Emtn?
10 14 4 2 13 4
35 1 4, 7 1 4 3 4 2 5 , 9 4
742) [1-x"+1=xy" —2—xy| - [1=X+5=-xy+— +|8—=xy+—=xy" +—X
) ( 4 5xy 8Xy) ( 6 7xy 5xy 15xy 6Xy 16
13 , 2 3 3 , 6
743) |[1——xy+1-xy -2 —XYy-— X 1-y+ 10X
)( 7Y y 1) ( Y13y y y y
6 11
744) 92 1\ - 12+ 2y 1=uv® - 7u 1208 - (6Lt + 1208 - 23
14 19 0 13
5 42 .5
745) Exy+ X'y gxy xy® + 7xy + 10 yo| + y = 1-xy+5=xy
2 2 6 3
746) (1=y° — 1=xy* - 2x2 19xy* - —y° - 1— 4—xy* +2=y°® — 8x
)( 3V T1Y y) ( % 1gy 1 y) (mxy 2y y)
747) 13802~ Lo 1 L pe) - (Bt - oap® - 1202 - (3-8 a2 - p? + 32
19 8 10 16 11 19 19
2 7
748) a?b? + 300+ 42 28| - [2a2p? + 3100 - La| + (4000 4124 -1 50
17 12 5 3 10 17 11 20
1 3, .1, 13 v 5 3 4 1 2
749) [6=xy* +11=x* - 1= 1—x"——y"+7— x+— -16—
)( 2xy 7 7y) ( 18 6y 6Xy) (8 13xy 1y
1 4.,3 3 2 4.,3 4 2 9
750) —xy—2xy+8 xy +[2y® + 5=x%y? + 7—x%y* 1xy +2— xy+5 xty?
2 3 7 16
11 7 3 2 17 2 5
751 2 4 25332 1 o3| — [9-v2 - 12628 + 4502 | + (325523 + 22 + 253
) (xy 16 Y Y 13y 11 Y 3xy 18 Y 3y 7xy
1
752) 6—i2vt — 12— 1208y| - [Luev+ aLuavt + 024 4 (720w + 1 30 - Ly
10 5 3 1 20
11 1 18 13
753) [6—=xy® + 1—y® - 2x3y*| - [1=xy* + —xy®| - +10 +1=x
) ( 18Xy 14y Y 19 Y Y 18 7y Y Y
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17 5 9

—x%y°® + 10252 + 8£x4y2 + 8ty - =x%y® + 12%°%y | + | —x° - SEX“y2 + 2£x2y3
18 14 19 20 7 14 17 11

12

1 3, ,4 2 3 7 3,2 4 3,,2 6 3,,4 3 3 5 4 11 3
757) [6=Xy" +—X"+2—X —[=x3y? —9—x3y* + 153 + (123 —x -3—X
) 7 y 3 20 y 5 y 13 y 4 y y

b* — 2ab? - 1a3b4 - 11b4—2ab4+161ab2 - 3§ab4—lzb4+1iab3
8 2 13 4 7 9 12

2 4 3 1 ) 2 9 , 1,43 4 11 ,
759 —X'y+5— x +—X 1—x +8—XxX°y+3—Xy| —[—X + 8X"y + 8—x
)3y yzy)(y 9y17y)(5y yzoy

3 3 4 4. 4 5 4. 4 5 1 4 1
760) [1—Xx——Vy" —2X 1—x -—x+ 10— +1O +8 x
) p 7y y) (8 y 3 2y 6y x%y? y*

3
1-m+ 1imn4 + 1§mn3 —~ 1§mn3 + 4§m +—m*| - 191m2n2 - 1Zmn3 —~ 11mn4
11 8 7 8 17 3 9 2

1 2 2 7 5 13 5 7T 4 2 3 55
762) [1—x +1 +— 10— 5—-—x]-|— +9x° —1—X
) 2 y y 8) ( 16y 16 6 ) (11)(y 4 y

7, 9 1,5 .2 ,) (1 1,
763) [7—x% +9y? + 8= + 23 + 1P + [ Exy - Sy + —X
) 3 y y) (17y 20 y 17y Xy-——y

13 1 8 1 7 7
764) | —x - xy® —=x 19x3 +— +14—x| - |—x%y + 8=xy°® + 1—x
)( Xy Sy)( y xy 18)(1331 xy 12)

4 1 2 9 1 1 2
765) [—ab* +1=a’b+6— 6 212| + [42a% + —-a2b? + 31a*| - (1014t + 12a% + 3->-ab
5 3 11° 15 13 9 6 6 19

7 2 1 3 3 1
766) [2=x* + 7—xy — —xy°| = [1—xy - x* + 10=xy3| + x4—— 3
) ( 8xy 1?’xy) ( 10xy 4xy xy —Xy

8 2
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5 2 5 1
767) [—m®n* +=n* - 12203 + [1--mon + 6-n - =nn| - [2mfn - 12mn® + 51men?
5 19 8 17 3 7 4

1%y  —y+ 1oy* | + 1 2%y + 25y + 4— x| + (15X - —xy* - 1=
oY 7Y 9y) (7Xy AT 3 TR T
15

771)
16

1 2
a+—ab-=a’b?| + a2b2+8§ab+61a - 12ab—31—0a+4£a2b2
5 3 8 3 17 18
4 12 3 5 8 1
772) (=X = 1=x%y + x| = [ XPy? + 8=yt + 7T—xt | + [Py - 2y - 1y
)(5 13 y y 8y 19 y y 14y

13

1 14 1 1 1 1 2
773) [=m®n? - 1=mn* - 1—m™"n?| + [2—m’n? + 43men2 + 3=m*n®| +[1=m?n? - 1—mn* + =m?n*
5 15 15 4 8 3 16 5

14 2 4.2 1423 1 43 7 4 7 443 14 1 4
774) (1 X' = 1=Xy + 9 XYy | +|1 =Xy -1y =1 —|+|=XYy ——X ——
)( 2 7 Y 8 Y 18 Y 8y 20/ \5 Y 3 10y

1 5 7 1

775) [—n*+=m?n3 - 12 02| - [n® + 122 = 2mtn) + (63 min + 2n° + 19mPn®
10 9 16 10 17 3 9
4 1

776) [—uiv+ 1020t - 122 + (1200 + ety + 202vt) - (1200 + 9Lty + 10102
19 14 5 19 7 6 20 3

14
777) 12men? — 2m2n? + 10omn?| - (38mn? + 220802 + 2 men2| + (12men? - 13mPn? - 1m
3 16 7 6 17 2 9

17

11 17 1 9 1 1
778) 020t — 12y + 2 ) o (i + v+ 12%8) + [Liay - ov 4 53 un2
8 14 20 10 19 17 3 20

1
3Euv - ff.iu2 + 6iv4 + 1£uv - 143\/4 +—u| + 5§uv3 —~ 3§u4v + 11uv2
15 9 17 15 2

17 2 12 8
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780) 120%" + 7—a® + 12b%| - (50 + 6-La%h? + 12a%| + [1--a%h? + 2oadh - 2083
5 16 13 8 5 19 15 15

4 2 14 3 1 13 3
781) (—X3y3 — xR+ xy2) + (nye, _ EXaya _ nyz) + (1zxy3 _ 10EX3y3 + 15xy2)

1 7 1
782) 38 2ot = 2 4 Latpt) - (12 et + 2 + a%h?] + [3-ath? + 52a%ht — 120
13 3 9 16 5 16 3 13
1 1 1 2 1 7 2
783) [x%y + 7ix3y4 +—x| +[=x3y* - 32 L1024 - [2x+ —xty +1=x3y*
16 18 4 16 17 4 12 3

3 1 3 1 9 1
2= [7=y - 1>xy* + 5=x%y? | - 52Xy - 1—x%y® + 4—
Xy)(zoy 477 g 2"V T 0" T e

7

785) [8x%y* + 4§xy + ng"’yz) — (11y -1—x° - %xy) - (11—3 y

7 1

3 4. 2

X -1—X +1—

2 10 17 y 17 y 11Xy)

2 9 1 2 16 1 S 14 13
10=xY? +—x2y* + —x%| = [5=xy® + 4-—=xy® + 6-—xy| + [8=X* + 1 —=x"y* + 6—x%y"
3 Y 13 y 14 9xy 17xy 15)(y 7 17 Y 16 Y

1
18uv? + 1§u3 —uVH +[=0d - 1§u2v4 + 8£uv4 - 7£uv4 - 1Eu2v4 + 81u3
8 2 3 18 11 16 15

1 5 1., 1 7 1,.3 1
788) [=X* + 10Xy — 1—y*| + [3——x* - =x%y + 1—x%y!| + [9=y* + =Xy + =xPY°
)(2 16" 7 11y)(16 6 7 16 7 37 YT

4 1, 25 (3 .10, 4, 1, .3 5
791) [1=y-1>xYy+8=y?| +|= +1—y? - X3 - [12y2 + 10"y +4—
) gy 19Xy 7y) (5 y y >y AR

S 4,,2 2 / 4 3 4, ,2 11 4 S 4,2 1 4
3=XY =1 —y+9—Xy| - [4-XYy -——Xy-10—_y[+|y - 6X"y +12—X
6 y y y 3 y 19 y 12y y y 3 y

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-61-



793) 12men® + 7200 — 73 2| + (5n* - 2m?n? - 2m®n®) - 52mn® + 15mPn? + 9t men?
3 6 14 3 2 16
1 2 1 2,3 S 2,3 2 S 1 2 2 1 2,3
794) [oxy + 15xy2 - —x2y3| - [12x%y® - 2xy% — 12xy| + [7=xy% - —xy + 1%
) ( Xy + 1oyt =Xy XY m 2yt m Loy XyT -y XYy

5

796) 1-1p° +102 92 3ph? - 2b] + b+9ia3b2+§ab2 b 11—3b3 132902
13 18 7 4

4 4 10
2uv® + 6 u v+ 21u3 +|—=uv- 3gu2v - 6uv?| - 1§u4v -—Uudv+—uwv
12 7 3 17

19 17

10 9 3 2 2 4 3,,2 4 3 3 2 2 2

2—x2+2y* +6—y*| - [=x* +6—xX°y?* +3—y*| - [3—y} - =x% + 11

v 11y) (3 EHRET M 77 Y

799) —3n +1 m n +6£m"’n3 - 1im3n2—18m"'n3—3£n2 + 4in2+3im“n3+21m3n2
9 11 13 17 17 10 4
3 3 7 8 4.2 1, S 4.3 1 s\ (tas, 1o .1 3

800) 1=y  +10—Xx"+7-——=X -16—x°+10—-Xy" +1— +|=Xy +—=Xx"—-2—

) ( 7y 17 y 14 6 4 l4xy 4 2xy

18 2 3

1 4
801) 2u® +—v* - AT Y IR SR SV
2 7 7 2 7
1 3 3 2
802) —v° + 410 + 32U+ 208 4 4Lyt + 208 4 SUNA - 1208
3 2 7 7 8 4 5 6
1 2
803) 2§x3y4 +=x° - 81xy3 + X%yt + =xy® - 3153433 - —xy®
6 2 8 3
1 1 1 1 1 1 1 1
804) 1-m?n® + =m?’n-=m’n* + 1-m°n° + 1=m’n + =m’n® + =m°n + 1-m°n°
2 6 3 4 4 6 8 5
3 3,,2 1 5,,4 3 2 3,,2 2 4 5,,3 2 5,,3 1 5,,4
805) 2—Xy = 3-XY '+ 1-Xy+ Xy = 3-xy + Xy  +4—-X°y  +1-X
)7y XY IOy YT =30y F Xy ALY+ 1oXY
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1 1 2
806) —m>n® + 12mn+ 15mn + 15mn - mPn? + Smen + 2mén + 15mn
2 8 4 2 3 3 4
2 1
807) 4ﬂxy2 - 2%y + =x°y3 + 2x°y® — 2x%y? + —xy? + 2£x2y2 - 1ﬂxy2
5 5 5 5 5
4 1
808) 32a%° + 11a%° + 3Lab? + 12ab® — Zath? + 3La%h5 + —a%° - 1-1a%h?
7 7 8 2 5 8 2 2

1 1 1 1 2 1
809) 3-u’v? - 3ulv+2=uA +1-uPVe + 1=UPV° - 130+ 12082 + 112
6 6 2 2 4 3 2

1 1 5 7 5 4 5 3
810) =xy° + =xy* + 1=y +1—xy—-1-y+1—-xy’> +2>xy - 1=
) 2xy 3xy 6y 8xy 6y 7><y 6xy 4y

1 1 1 1 1 5 3
811) 1-xv* + VP =3+ v 1=+ SvP + 15V - Syt
VIV Y Ty T Y ey T

6
812) 8uv* + R EN N N NP T 1§u3v4
4 7 7 7 7 5 5
2 1 3 1 1 5
813) 1-a+3-a’b-1-a’b?+4-a’b+a’b®+a+5-a’b+3-a’b?
77 74 4 2 4 6
4
814) 2mn® + 1 men+ 2o+ - 13mn® - 3303 + 13m0+ 4203
8 5 7 5 2 5
1
815) 3352+ 1§x5y2 C13x 4 lﬂxf’y2 BPENJENNEN NN
4 8 7 7 5 7 8
2 2 4 1 5 1 1 5
816) 1= +=x°y® +4—xy® +4= + 1=xy® - 2=x°y* + =xy® - 3=
) 3 3 y 5Xy 4 8xy 8 y 3xy 8

5 3.,5 1 4. 2 1 5 3,,5 1 5 2 5,5 3 5 1 4. 2
817) 4—Xy  +2—X'y  +3_ Xy  + Xy  +3=Xy” + Xy’ +4—Xxy” + 1 X
) ) y 5 y 2><y y 5><y 3 y 4><y 5 y

1 3 5 7 3 1
818) 1=xy° —3=x’y—-8x°+3=x?>-3—y—-4Ax’y+1=x*>+3=
) 2xy c y 5 8y y p 6y
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2 5 1
819) 6x%y° + 7xy* — =x+=x'y* + =x + 1§x5y2 +2X + 2X°y?
3 7 5 4
4 2 1 2 4 2 6 3
820) 3—=x'y? +2-x°yP + =y + 4y + —x* - 1oy + —yP + 1 XE
) 5 y 3 y 4y 3 y 5 3y 7y 7
1, 1.,,
821) 1— xy 2+1— xy+1 xy+4 xy+1 xy+ xy+25xy
1 1 1 1 1
822) 2=u*v® —=w* - 42 +1-uAVP - =V +4-wt + 120 + 42345
8 8 4 8 2 8 6
1
823) atment — 13mn+ 12 m0n% + 13m0 - 11t - 120800 + Zn + amtn?
3 4 5 8 7 5 2
1 2 2 1 3,
824) 1oxy - 12x%y2 — 1252 + 235y + 22 — 2xy + 1oxCy2 + 4x2
) A A L X+ 1z y? 2
4 4 5 3 1 1
825) 2—x'y? +—y+x* +3=x* + 1=x%? - 3=y + 8y — =x*y?
) XY Y - Y T35y 8y oXy
1 1
826) u+ 4202 + 05 + 120208 4 U8 4 15U+ U+ 210A
7 4 3 5 2 2
3
827) —ab - 120202 ~ 10 0%0 + 204t — 110202 + 13a%0 + 2a%h - 124202
4 5 8 8 3 7 3
2 1 2 2 1 1 3
828) 1=x'y - 1=xy* + X°y? + 2=xy* + =xty + 4=x3y? + 2= x3y? + 3=x!
) XY T LY XY 22Xy A Xy HAOXYT + 20 XY+ 30Xy
3 4 1 1 1 2 1
829) 4=x"y* +2x%y - 2—=x*y* + =x%y® - 1=x'y? + 4=x%y + 3=xY? + =xPy*
)7y Y= 2 XY XY S IOXY T ADXTY + 30Xy OXTyY

1

4, 1 2 14 3,
830) 2b+—a’+=-a’b*+3=-a*+1-b+1-a’b+—-a’b+7a*
70 2 3 7 2 5

534 2 13 345 3,,4 4 4.5 3
831) 1—x -1-y-1—-Xxy+1—Xx - 2X —-1—vy+5x +1—
) ) y 7y p y 3 y y 7y y 8y
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3 1
832) m+ 130+ 12men+ 13men + 230 - Sz + 2men2 + 12080
7 5 6 8 4 4 5
3 5 1
833) 42D + 2a® - 7a%h® + Sa%h® + 4=b° + b+ 22b° + —a°h°
6 4 2 7 7 6
1
834) 1§x3y+ léy4 -= 1——y e x yi+= x y +4§x3y3

432 555 5 5.,4 132 25 555 154
835) 3—x +—X - 7X°y + X +1—X +3—Xy+1—X -1—Xx
) XY XY y+ Xy XY Yoy Y

1
836) 7b* + 13a S 1285 + 1902 + 1a%h + 42a+ 1902 ~ 114
3 6 7 6 8 7 4

837) 130+ 1443 + 1550 1450 42452 - 12
8 4 2 8 3

3 1 2
838) —udv-—u®-u’v+4udv- 2t tir i 2 2§u3v
5 4 7 2 5 7

4 33 3. ,1 5. .3 3. .3 2 15
839) 3—Xy —-2y" +4—_X+xy +1-y +3—x+1-x+4—
) 5 y o 2 Y 4y 4 5 8y

5 4

1 1 1
840) 1=ab® + 32a% — 4b° + ~a'h® + ~a2b® + 31b% + 29a% + 1p?
7 8 3 3 7 57 2

2 1
841) 1%xy+§x3y2—5x3y5+2x3y -3= xy+3 xy+3 xy +23 xy

1 1 1
842) 1102 + 15008 + 12020 + TP + SnPnd + m2n? + Sn? — 1-2men?
2 3 7 4 2 5 3

4 7 1 2 1 2 2
843) —x°y° +2—x° +1=x* +5x° - 2=xy + 1=x* +3=x° - 1=x"y
5 8 2 3 2 5 3

3 3 2 1
844) 2x** + = + 2x3y° +4 XOy° + =y + 1=y + 8y? + 4=
) 2X7y c y 5 y® 7y c y* +8y p
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5 3 5

4 5 1,3, 155,95 4 ,4 1
845 —x - 1-=Xy—-1—XVy +—Xy° + +4—X>+ X’y —2—X
) YTy YAy . y=-27

1 2
846) = —21x3+2§x2y3+1+11x3——x2y3+1§x3+11
2 3 4 6 5 8 2
1 1 5
847) 22mt — gmen - Smin+ 4mPn + 15m® + 33mtn + —m + >m®n
3 2 5 8 4 3 6
1 3 3 1 2
848) 35 + 11U 4 ou 4+ DU+ U+ Su® 4 208 4 38
4 5 8 2 5 6
849) 1208 + 3 + 328 4t — 3t e autv + atave 4 31
5 8 4 3 4 4
1 6 1 2 1
850) 1=y - 2xy® — —y* +4=xy® + 1=-y* + 2y* + —y* - 5xy°
) SV TRy oy Ay LY 2yt ATy - Oy
851) 2 x2y +35xy+2xy +Ex3y+zxy PL xty® e =x2y* e xty®
8 3 8 6 2 7
1 5,2 7 5,,5 1 5,2 4
- =Xy +4-Xy’ + =Xy + 2X
5 y 3 y 5 y
4. 4 3 5,,5 5 2 5,5 4.4 2 5 5 1 5,,5
853) 2X7Yy" ==Xy’ =7y’ +1=-xX°y’ - 2X"y" + 1=y’ + 2y’ + 4—X’y
4 7 7 2
5 65 ,1 1 2.3
854) —x+1 xy +4 xy +2X°y° +17x +27x+lzxy+8xy

1

1 a*b? - 2b?
3

855) 1— L5t + 11002 + 1107 + 2020° + 21050 + 11a%02 + 41
2 6 5 8 2

4 1 1 2
856) 1—a'b®-2-b-2a>+1=a’b°>+1-ab’> +4= L2 4 ab3 +2b
5 2 7 3 3

5 1
857) —m°n° + 1gm2 N 3§m5n5 -5m? - 2— 6,1, 2t
6 3 5 6 7 6 2
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3 2 1 2 1 1
858) X°y° +1=y? +1-x° + =xX° + =y? - x%y° + 1-x%y° + 32X
) Xy 5y 3 2 7y y 4 y 3
859) Ex2+41+5x5y5+41—2§x2+61x5y5+§x2+E
8 2 2 4 2 7 7
5 1 3 3 5
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882) —mn? - m’n* - =m°n? + 2=m?n* - 1302 + 110802 + 22 - 22
6 8 6 5 7 3 4

5 2 .3 5 1
883) —~y—xy—xy° + 25 + 15y~ 1oxy* + 32x3y5 - =
) Sy Xy 20+ 1y - Loxyt + 30y -y

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
- 68-



1 7.1 1 12 5 1
884) 1-x° +4—y-3=x%y* +1=xy° - 1oy + =x%y% + =xy? - 1=
) 13Xy A0y —3oX Y+ IoX Y — Loy Xy Xy m Ly
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) 4 Y Y 3) (10 Y 3) Y 4 6y 8 Y S) Y
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1 2 1 2 3 4 2
919) (=x%y® +=xy +4=x%y*| - |23y + Sxy + 3——x%y?| - [6=x%y® + 3= xy — 4x%y*
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926) |1—X +6 +8 x Zy +1-xy° — 6x 523 -1 y2 - =
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929) [1=x* + =y +2x*%?| - [6=x +1 Xyt + x| - 1353y —1—x* - 3=y°
)( 2 7y y) (6 8 Y 12 Xy y 5y
( 3 12

5 7 4 1 3
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) Xy 3 y XY) (6Xy 8Xy 5 y 5 y 9Xy 11Xy

1 3 1 1 3 1 3 9 6
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9 11 3 5 8 14 2 2
1 1 1 2
1002) |—x° - 1—x2y4) - (—3§y5 + 51—?;)x5 - Exzy“) - (1%x2y4 + 4%x3 - §y5)

2 7 6
1003) |=x——x*| + 10255 — 1150 4+ 324 + [<11x+ 3x%Y° + —Xx°
37 13 9 2 9 3 7

2 2,,5 2 2,,5 2,3 3,,3 2 2,,5
-1-x —-1-y" +14x -——X +12—X - 2y° +13x

1 9
1005) —1§x3y5 +234] - 3L x4 - Cf.ﬁx2 r1ix)+ XY+ —X+ 61iy?
9 5 13 11 2 1

1 3 2, ,4 3 7 2,4 5 1 5 1 2, ,4 3
=y + 8yt + [ Sxy® -yt - 15y + [Txy® + 1Ky - 1
107 y) ( Y TR Y 13 T Y
1 1
1008) |- =u*v® — =u?V3| + |- =uAv® - —utv® 22 8| - [-aLusys —iug‘ +6—u?®
2 2 8 10 14 10 2

7— + 61x3‘y5 o[ Exe -1ty 1x?’y5 o[ Exe 473y 5ix3y5
2 6 8 8 14

822
—X
11 y)

7 5 7 3 2,2 3 3 5 1 5 1 2
1012) [6-y° +—x3| + (45532 - 153 - 12y°| - [12y° - 1—xy? -
)( g’ " 10 ) ( Y75 Y ) TR

11 4
-—a’p* + 11a5 - 5§a3b4 -1=a®-—ab| - 4£a3b4 + 1ga"'b3 + Ziab
12 7 3 5 2 3 13
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1015) 2%a0° - 12a) - [-1taps + 5 3a%2 - 224 + (6 1a - Zabs °p*
9 14
1016) 11x4+—x5y x 3y? - 13 XCy* + —x%y| + RN +3 x y? + y*
4 7 10
1017) —lle’y5 +2x%y°| - [1=x%y ﬂy2 +13%y*] + [3—x°y° 2y° +—y?
5 9 1 11 11

1021) |7b* + 2 a258) + (7102 - 22 a5 1 11078 - (1107 + 21a%pR + &
2 3 13 3 13 8

4
1024) —o3t 142a5b5) ( i 2 +62a2b2 %a) + (Ga— 1§a5b5 +6%a2)

1 12 3 6 6
1025) [5x%y — 3=x3y3| - [1=2x%y? + = x5y + 11x%y| — [=xPy + 6x*y? — —x®y?
) y- y) (13 y E XY y|={7xY y 3%V

4 , 5 4 4 1 7 1 3
1026) [-1—=y* = =x*°| + [1=x%Y° + —xy* = 2=x%y*| - [-1=x%y* + =xty° —1=y*
)5y8y)(5y13xy Y gy Xy 1oy
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1027)

1028)

1029) (1—1x4y3 + 1Zy ) (6 xy? - 1/ x y° + X1y ) ( 1—x4y3 - ngg‘y5 + 71—54x4y5)

1032) —1§x3 + ngy“) + (—2x5y3 +12x3 - gxy"') - (—13xy4 123 1x5’y3)

12 2
7 4 4 1, 5 1 2, 7

1033) [6—y® —2—=x°y?| + [1=X°y? + 1=y + =y = [-1=xy? + =yt - —X3
) (%Y 5y)(7y g’ "6’ 177 73 T

7 3,,2 9 3,,2 9 3\ /4 / 3,,3 8 9 3
1-Xy" + 11Xy = [-1 XYy + Xy +—X —x +2 X3yt +—
8 Y Y ) ( 13 Y 10 Y 10 Y 11 Y 8 Y 10 <y

2 5 3
Ziv + 4Euv - 131uv + o+ =l +[-Sv-1= 1 u?v? 32\/5
1 7 5 6 3

1 3 4 5 11 2,,3 1 5 2,,2 5,4
XY+ T =XY [+ =X+ XY+ 6 XY | — [ Xy —2X7yT +2X
y 6 Y) ( 2*7g y 13 y 5 y y y

1 11
“m?n+=m°n| +[7m° - 1gm2n +3m°n*| - [-11m° - 21m3n4 - 2m?n
12 5 11

1039) 1a5‘b ~ 12050 - [11a%® + b - 21 a5b% + —laSb EPIESUAPRIR
5 8 2 6 2 14 12
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-Zudvt + ZEUZV + [BuPv* + 3£uv3 - 1Zu2v - —31uv 23u Sy 13u2v
4 13 12 3 11 4 5
1 3 3 7
1041) [2y° +3=x - [=y® +4=x = xCy3 | - (X - 23%y® + 2—
) ( y' +3, ) ( 07 T3 y y +2gy
1 2 7
x2y? - 1§x V3| - [-2x%y? + = x ye + 1 x Vo |+ [-2x3y? + =xPy® + —x%y®
4 5 8
1 4 2 1
1043) (—y"’ + 6§y2) + (—1?x5y3 + 7§x4y + gyz) + (12x5y3 - lgx"’y - 2)

553

2 7
1044) 1gu5v3 NI T PN V- S -6—
9 3 10 7 11 6

11u3v +6u5)
2
5= + x| - 2 + 75xy% + 65| - [15x4 - 32xyP + 2

7 1 ) ( 3 y) ( 127

2

1 1 1
1047) —Zgazbz - 2£a“b4) + (3 151 a*b* - 14ab5 + 2ab) (— Ea“b4 - gazb2 + 7§ab5)

1 2
1048) |=—mn-=m’n?| + 23 tmn+ 11men® - mPn®) + [-12mPnd + 1-=mPn® - S
6 13 6 12 12 5

2
1049) ( 3 X°y? +—x y ) ( 21—?;x y° — 2x%y? PE %) ) ( 3§x3y2 -y + xy3)
3 9 4

4§xy+—x —xy+ xy+1 xy xy +5 xy+ xy

3 3 4
1051) |=m*n+ 5 m 0| - (4B men + 12men® + 22| + (22 - 22 men® - 2 s

5 14 4 5 5 8
1052) (-1—v* - 21u3v2 + 5§u PPNV INY: 43u PV RELY.

1 10 5 12 5 13
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1 2.,2 9 5 1 2.,2 2 5 2 1 2 3 2.,2 7 5
1053) [1=x3y? + —Vy°| + [4=x3y? - 25y° + 12VP| - [- =y + 32x3y? — 1—
)(4 y 14y 5 y 5y y 3y c y 9y

10 3 1 4 4 3
1054) (2x2y2 + 12y3) = [2=Vy2 + 72x%Y* + 1533 | = | -1—xy + 5=x%y* = 2=x%y°
) (2x%y y)(lly Y 10Xy Y5 XY 20Ky

4 4 2
1055) |-8ab + 12 0% + (-2 a2b5 + Zab + —ath?| - [- 28205 - 22 a%h® + 2ab
11 11 5 11 11 14 5

1 7 1 1 1 3
1056) [—2x2y° + 3=x3y?| + [-2x® = 2—x3y? + 1=x?y°| + [5=x% + 3=x3y? + 6=x%y°
) y 5 y 5 y ) y 3 5 y - y

4 1
1057) 21202 4 7202 | - [itn? + 2L ment - Lnen2| - 5§n2 —mtn? + 1 men
8 5 13 8 3 4 2

—1§u4v3 + 1iv + 4§v2 + 7EV + 7§u5’v5 + —3EU4V3 + 42\,5 +—v
7 11 4 3 5 12 10 11

1 1 6 2 4 2
1060) (—x°y® +2x°y%) = [12y? + 1-—xX°y° = 1—x°y?| + |[=x%y* + 1=y + 4=x%y°
) (—Cy y?) SV 1Y =1y + (O 1oy + 45Xy

1061) (~xy* - ZZ) + (ixy“ - %y3 + 68) - (61—12 + G%y?’ - gxf’yz)

1 2 9
1+-—=x%?| - NP 10x%y? | - [12 + =x*y® + —x°
13 4 11 3 10

1 3 4 1
—m°n + m°n?| - [=m*n® + 1§m5n2 ——m°n®| +|[=m°n® - limf’n2 - 12m*n3
5 7 7 2 12
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4 1 1 9
1072) 6=mn + 122n] = (120 + Lrent - 12 mend) - (2 - Lient + 2
2 9 7 11 3 5 11

2

1078) (—xy - 1§x3y2) - (11x3y2 - 1%x4y2 + 6xy) + (—1£x2y - 3%xy + 23x3y2)

2 14 10
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7=a’b® + 41a +(2a°b + ga“b2 -~ 1§a2b + 2§a5b + Ea2b - —a*b?
6 11 4 8 7 7

=
wIinN

ud + llu“v3 + —2£u4v3 - ?ﬁuzv5 - lﬂu5 -~ —lu“v3 +1 3u2v + 61u5
4 11 9 12 2 5 2

4

1
1081) |-—m®n* + 5-2 1] 4 (7 m2n + 72n% + 62| + [—mfn’ + 52n% + 6—-m?n
14 14 14 8 8 10 3 10
9 24 8 5 325 .11 5 1 45 2 3 2.4
1 — Xy ==y | +[6-XyY -1—y —-1—X + + 1 x -3=X
( y y y 14y 13 y 1 x?y® y° 5 y

1—3a b+ 7a°b*| - [-13= ab4+ b2 L a’b| - 5a5b 1= b2+a5b4
6 5 9 6

15

+ 3£u4v + —11v2 + 7§v5 —~ 1ﬂu4v
10 13 A

3 4 3 1 7 13 6
5—xy* + 1—x| + [>x+ 7=xy* + —x%y° - =x+1—x%"
Y 7) (4 2 Y Xy 113

4L o212 + 41 ap) + (-13ab + 2a%b? - a*b®) - 1 tatps — 1tz +1-Lan
10 2 4 14 10

1 1 5 11 ,
1089) (—x%y — 2x*y) + [7=x*y - 2=x’y - 12 1—x*y+1—=x%y +
) (—xy y)(8y2yy 1yMyy

3 8 2 3 5,,5 7 4,,2 5 2 4,,2
1090) (-1—x+5— =X+ XY+ 11Xy |+ | X—< ——x
) ( 4 9xy) (8 Y 9 Y 11 xy Y

1 1 2 1 3 4 7
1091) [-1=x* +2x%y?| + [2=x%y + =3y = =x%V? | + [1=xy + 4—x3y — 1—x%y?
)(3 y)(2y7y3y 7><y y=15%Y

7
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1092) (‘ %X4 + 6%)/2) - (1—73)/2 + %x“y“ + 51—72y4) + (?y4 +1= éx“y4 + 4;y2)

2
1093) 12 s 1 12003 - [ 2une 11 e - 3 tu) + (720 - 1308 + 2L
13 5 11 10 6 7 13 8
2 1
1094) a1+ 120502 - [« 2082 + uavs — 2100 - (530t + 12025 + i
14 7 13 7 9 3 3
1 7 5 7 1
1095) (2y - 2xy?) - [2=y-3—x* +1—y*| - [1—=x*-1=y* - 1—
) (2y xy)(gy o 14y)(12 y y
5 7 1 2
1096) |2x°y — 12x4) - —x3y° - —x° = =x* - [-—x® -5x* - 11x3y5
3 14 10 6 11 2

m?n° - S%m“n"’) +(-10m?n® - 2 + 2m*n*) - (1% - %m"’n4 - %man)

2 3,,5 10 5,,3 3 3 1 5,,3 7 3,5 S 3,,5 1 5,,3 3
1=XYy" +4—X°y7 | +|-32X = 2=XY" + Xy’ | = |[4=Xy° + 3-Xy" — 2X
3) Y 13 Y 7 6 Y 12 Y 6 Y 6 Y

290502 - 3383 + [-1-2a%h? + 2a%b? - 1= ab®| - (~2ab° + 17a%h + 1-2a%
7 12 11 2 12
3 1 2 1 5
Xy +3=| - [5=xy® + 11x%y° - 1%y | - |2 Xxy® + 4x°y - 3=X°
Y77 3" oY 12" 7 "%
1 5 2 2 , 14 11 5 1
1101) {Zx%y2 + 5y + 12y | = [y = 12y2 = x3y® | + (922 + Pyt + 10y
)(2 Y Yy g A T ) T e

1 3 2 7 4.,3 13 3,2 1 2.4 3 4.,3 4.3 / 2.4 3,,2
1— + 9—X +|5—X°y° + 3—XYy ——X +|20X7Yy° + =Xy — 6X
y 9 y 18 y 5 y 11 y y 3 y y

1

11=a*p* - a +1O2 a’bl| + i1 b3—3£ab—ia4b4 4 3ab+82 a’ +a‘*b?
3 9 12 3 14 9

1103) (3=x +3 += X 4==y +=xy° —xOyA + [12xy + 11Xy + 9=
)(7y xy y)(lgy 4><y 8y 5><y 12y 3y
1104) (
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3 5
X+=Xy° + 3§xy3 - (52x- 1=y° —=xy®| - [6x°y° - le“y5 - 15xy°
7 7 11
11
on® + 19m2n® + 22 m*nd) + (2203 + 10 L men® — 1 min3] + [7n° = 12m*n® = 2pend
20 14 14 8 7 13
9 1 5
1107) 1L + —m+ 12-2mtn) - [1m+ 5-SmPn? - 1=-mPnf| - [2mPn? - min + 1--mPn®
19 16 10 13 5 11 17

15 19

1 2 11 1 1 5 11 5
1108) |=u*v® +8—u*+3—u|-[1=u*+1=u+ 5ouhS] - [2utvs + Ty - 2uhe
13 15 3 6 8 6 18 7

1109) (105x°y" - 1—x3 +—xy? Y2+ 100y =] + 8 xy® - —xPy + 1-x8
6 10 6
1 1 11 . 2 6 1
1110) [10—=xy® +9= x32+1— H-8—+2—=x°y-1= 7— = 2X°y + 1=xy°
) 12Xy y 2xy) ( 17 18 y- 5y) ( 11 y 2Xy

1 1 2 13 11 7
1~y +6—x 18Xy +9-y3 + 15y - [6ox - Ty -1-—y®
Xy) ( Y 7Y 3y) (20 EMERETN

1112) 72V - 11 + 132 — 12082 + 22 4 itV - Eu:”v2 IPETRV RPN
18 16 6 16 7 9 4
5 5 ;3 4 4 2 4 1 4 2 5 1
12x +2— +d] + (1293 - 122 + 15560y - [61xy® - 1-oxy? ~ 12
3 y* y 9Xy 3 y 7Xy 3 y* 8Xy 13Xy y

3 3 5 11 5, 11 15 10 1
1114) |6—=x%y" += x *+5=|+ Xyt + 433yt - xR |+ 18Xy - oyt - 12Xy
)13y Y 7)(18y 18y16y 16 7 1Y T

4
1115) 23men2 4 L m n+15mn| + (523 mtn + 22m2n? + 2| - (1m0 - 130802 + 4l
4 2 18 3 7 16 17 2

1 3 5.,3 8 4 7 5,3 8 3 1 4 1 3 5,3 4 5
1 —Xy+4x°y" - 1—X' |+ [1—Xy - 15— Xy+ 7=X"| = |1—Xy+ X’y  + 7—X
y 11 10 y 9 y 5 20 y y 9 y
1m"’n4 2 m °nd -n®| + 8im4n4 - 3§m3n3 - §n3 - 1§m4n4 + 8Em3n3 + 101n3
11 5 5 8 6 9
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1 11
1118) |ab® + 2t apt+ 130%) - [Lapt - Hazpt + 71at03) + (11 a%2 + 12 a%h® - 3-2p°
12 17 3 18 3 12 13 16

4 19 3 4
1119) 4£x5y5 + 12x5y3 +1-252) - (313 - —x°y® + 92x5y5 +[=x%y? - =x%y° - =X
20 9 19 18 19 9 20 5 7

1
1121) (?uzv3 +1-v- —v5) + (8—v5 + 41—E;u2v4 + 3—u2v3) - (1—u5‘v5 +=utvt + 1—=uA?
10 3,,3 S 2 2,5 2 2.5 9 4 4.2 S 2.,5 1 1 4.2
1122) (2—X°y" +8—-xy—-1-x +| =Xy +4—xy+1—Xx + =Xy - 1_xy+—-x
) 13 y 7Xy 3 y 5 y 10Xy 11 y 6 y 2Xy 2 y

11—3uv - 1gu2v4 + SEV4 - lu2v4 + 1§u4v4 + 1gv4 + 1Olu"'v4 + ﬂu4v3 + 1luv
15 9 19 18 5 17 15 7 17

1 7 1 5 7 1 8 2 5
1124) |=y* +2—x°y? = 32Xy’ | = [3—=y* = 2—x%y° - 1—x°y?| - [1—=x°y? + 2——y* + 9=X°
) (2y 167 877 137 "“19"Y " T18"” 1577 "1’ 7%

2,5 4.3 4.3 2.5

5 3 17 6 4 1 3 13
2 + 5_X4 5 + 4_X3 3 + 1_X3 3 _ _X4 5 + 1_X5 4l _ _X3 3 _ _X5 4 + 7_X4 5
i 6 y 14 y 18 y 7 y 15 y 5 y 5 y 20 y

3 1 5 7
1127) |1=ud?® + Zuv3 + Q%UZV) + (lguv3 - Euzv3 - —u2v) - (91u2v -—u®+ 91u2v3)

7 2 16 13

15 17
1128) (19x*y? + 5x%y° - y?) - (3£x3y3 +—xy? + —yz) - (4%y2 - léx“y2 + G%X:"y?’)

18 16 18 9
1 15 7 2 1 7 2 1

1129) |3—u-— LA B N PSP | B A T
18 16 12 3 5 11 15 2

2
1130) PR 11—8n -—m’n®| - 5im2n3 - 31—3m3n5 + 1gn3 - 31—0m2n3 +9n° - 2§n
12 19 3 12 14 7 13 4
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+ 23y + Toxy? | + (8- + 2x°y2 + 9 — -1 xyt+ T
P 2xy) (16 AARET SARRET

2

1
1131) (3=
) 2 Y 13 20

§m2n2 - ﬁm2 + llmf’n3 -~ 3gm2 + 1§m2n2 + 1£m5n3 —[m?n? + 1m2 +7m°n3
17 2 3 9 16 2

9 3
1133) 32mn + —-mn + mPn2| - [2mPn + 52mn® - 12m2n?| + (1-2mfn? - 35m2n? - 61m
6 11 4 3 7 13 2 6

1 13 ,,.3 5 1 1,4 S 4 344 10 3,4 4,
2—x-1—x"+1= |1 Zy-1-Xy +8 _X'|+|6XYy + Xy — =X
18 14 4xy ) ( Y Y 16 7 Y 18 Y 7

uv + 1£u5v2 - 1llu4v + 1u5v2 - 1§u4v + ZEUV 2 8u2v2 + 13u"’v + ﬂu5’v2
18 12 8 4 18 18 5

1135) |16x%y° - 1x4y5 + 2x%y? | + 2§x2y5 + ff.gx“y5 + 7gy5 +2y° + 21x2y2 - 3§x2y5
2 9 5 5 9 8
| :

2 7 1 7 7 7
1137) [x® +18x%y° + 4=x*] - [— + 13x%y? — =xX3y3| - |3— + —x?y* + 10— x3y?
) y 3 y 17 y 2 y 9 8 y 11 y

1
1138) |=x*y° + 8235 _ x| - 5£x2y + Ex“y5 +1258) - [6-Lxe - lgxzy r22058
9 13 11 7 14 3 11

g1l o

1139) (8

1 2 2.,2 1 12 2 1 2 2,2 5,,3
+2 x + 8—X +|5x°y° + —XxXy° + 1—Xy| — [5—=Xy — 2X°y° + X
y y 5 Y) ( y 1 y 13 y 6 y y y

a’b? —1—a4b—ia5 + ia“b+11a5b2—11a5 - (5= S —a%+7= a5b2 14 a*b
11 10 2 11 4 17

|
o s
[

37 T1a 4

1 8 8 9 4
1142) |-—m?n? + 2 m 12| + (12mf - 22 - S| + (1 3m0n? + mn? - 1%
13 16 11 19 7 11 11

3 1 6
1143) 1-C e 4 2m+ 2P| + (8 2min® £ 7300805 1 7 B ns |+ (L 4 1 B mens - 1
12 5 2 17 17 15 11
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2 1 1 3
1= x42+7 +6— +6 XAy + 4— — -1+ T
3 y y xy) ( =y 0 y Oxy) (14y > y 1O><y

15
1145) gx y+ 32 X y'H+— X y ) (2x5y4 +xy* - 1%xy2) - (EXSy4 + 1%x5y+ 8%xy4)

1146) 12 3b+3—a +10= b 206 - 19a% - 2a%b*| - [9-2b + 13a% + g
6 3% 15 4 17

15 3y 1 5\ (1.4 6 16 144,10 35 7
8— -—y-1—X Xy +— +6 X7+ |7 XYy +6 Xy +8—
19 Y y 15 ) (2 4 19 <y 19 2 Y 13 Y 8y

2
§m3n2 - 3 m - 1£m3n “m’n+2m+ 2£m3n2 - 11m3n + 11m - ng"*n2
5 3 14 9 5 3

1254

1150) %u +=ulv - 14uv) (32—70u +719

3
-2 1uv —uv+ 1Zu5 + 81u5v4
7 20 8 19

1 1 1 1 , 4 1
2 4 2 2.3 4
X 2x - x| +[7=5x%y - 16X%Y° + —xA | + [1—=x* + —xPy — —X
y- 7 ) ( 6 y y 10 ) ( 17 5 y 16 y)

11 4 15 , 15 5 17 5
1152) [—=x%y — 10x%y° + 2x*?| + [6=x%Y? + 10—x%y — 11— | + 4= + —x%y + —x*V?
)4y Y y)(sy 16y 19)(618y7y

1 4
1148) 8uv? + 1 Vo122 + (a2 - 1 v e tun?] + [2usvt - 12w + 2w
9 20 11 3 3 7 9 7

13 4 4 2 1 11
6—x*y* - x 11 1—x%y — —y+ 1=x** - [1=xPy - —=x** -2
18 y* y)(13y7y7y)(3y13yy)

10 4 5, 2 54 1. 19 5
1155 +1=x° +2 x 3—y+1=XxXy +9—=Xx -|1—x 3 +3—
)(y y® y)(13y XY =Xy 2y xy 137
1 2 3 5, 1 2
1156) [7x° +9 x + 16x°y* + 1=x° — —x 1533y - 1=y +—X°
)( y 2y) ( y 9 14 y) (9 y 2 y 11
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6 2 1 2 2 19 6 1
2—x%? = =x° + 2xy| — [2=x* + 6-——xy + 19=x"y?| + [10—xy + —y® + 10—X*
11 y 7 Xy) ( 6 15xy 7 y 20Xy 7y 12
13 4 1
WP+ + o2 - (102032 + v + s - [Fus - 1303 + 3LuA?
18 3 20 9 8 5 9
3 9 11 5 7 1 3 17
1159) (8=y° +1—xy® + 7—x?| +[1=xy® - 1—x® + 10=xy?| - [2=xy? + 18xy° + 1—y°
) ( i ST ) ( 67 "1 i 2 TV T Y
14 3 4 4
1160) |—x+6—x> = x| = [x®+=x> +=x]| = |5x® = x + 1—X°
15 8 5 9
3 3 4 1
1161) (= - 1gu4v2 -—u?v| + 1gu5v +—u'v? + 6gu2v N P B AT
8 5 8 5 5 3 7 4 8
13 . 10, .1

1 1
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1 15 16 3 13 12
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8—XxVY +1—XYy—-3—X°| = |7T—XY +1—X"+ 1—=Xy| + [ X° —1—X°y + 5X
3 y y 14 y 10 2 y 11 y y

3 17 2
1166) GEXSy5 + 9£x4y +3) 482421k 4 —x*°| - 102 4 6§x4y5 + =Xy
15 14 4 9 4 20 9 5 3
1 14 1
1167) 18 4 21 102} 4 (1802 + 630%05 + 200%) + [La%s + 6-2a® + 11 a
14 18 2 11 7 15 3 13 19
1 1 1 2 5 2 1
1168) |1-u®-1=+1=v*| +|6uv+ 2208 - 22| + [P - 12 - S
4 6 2 7 19 14 3 2
3
1169) 110t + 1+ 7280 - (5384 + 82 8% - 12 ab®| - (91 a% + 2 ap® - 172 &%
2 3 14 11 15 18 11 16
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8— 1 4 2 4y5 _1_Ox5y3 + 4£X4y5 + IEX3 +201X5y3 + 13X5y3 +§X3 + 11X4y2
16 17 19 17 6 20 S 4

1171) 1tap? - l—a +1— b4 73 a0 412 ap? - 32p5) - [11ap? - 2145 + 52p°
2 17 20 11 3 9 3

2, 3 6 , 8 12
1172) [x° +1 x +3 x 9=x +5 Xy + 6— NG +7 =x°
) | XY y y) (5 1 y+ " y) ( y? Xyt - 13 )

12 11
1174) §x +— x y° + fﬁix3 - lx5+4lx5y5—1lx x° +4 —x°y° +3— 6
5 17 18 15 5 5 19

1
1175) 6—mn + 10— m ~ 3L ent) + (52m2n® + Lmfn - 3L mfn 12m2n® + 118 + 53m4n
11 12 7 2 12 3 3 14

12, 18 ,

9
1173) (6x3y2 -1-x% + 4 5V ) ( 3 —x%y® + 5§xy3 + 6ix4) + (EXZ ixy S )
_ B (182 114 2£u5v o720 -2 Lisy— 142
19 7 9 15 7 16 20

1 1
1177) (gxzy +=x3y° 1—gx5y3) + (:%xg‘y5 + 5%x2y - 1§x5y3) + (2x5y3 - ff%xg‘y5 + 41—19x2y)

7 3 1 13 11
1178) [4—=xy® + 7=xY° +5—y° —V° + =X 2 +2—
) 9><y p y 1y) (Zoxy y 0 y) (xy x*y® 2Oxy)

2x3y* +1i4y +2—xy3)+(11—2—10y3—18x) (1:1)’+3 Xy + 1= y)

102a% +82a® - Ta2b*| - [2a% + a2 + 51a) + [-at - 2a2b* +—a
3 20 6 13 16 2 10 5 11

8 3,2 3 2.,5 4 4 2.,5 1 3,2 1 5 1 2 3:,2
8—X°y +4—xYy +1—y|+|[3—y+ XV +1—X -19— =Xy - 25X
19 y 3 y 5y 5y y 5 y 6Xy y y

1 1 5 1 11 1 15 19
1180) [16=xy° + 1=x%> + 1—x° X2 + 3= +3=xy? | + |63yt + 2%% + 4= xy°
)( 2Xy 4 16 y) (6 18 xy* sxy 16 y 20)(y
( 17 7
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1183) |2ab® - 120505 - 2 a%p)| + (52255 - 2a% + Sa2b?| — (202 + 1-2ab® - 18
5 14 17 2 19 5

lu2v5 - iu2v4 + 11u3v5 + lu“vS - iu2v4 + lluzv5 + 1Eu4v5 + 1u3v5 - 2u%v*
13 3 20 11 11 19 2

2 3 12 2 3 2 1 2.,5 2 3 2 2.,5 1
- =X+ 1—X| = [7T=XY+ =Xy +2x°] = |10X® + 2—X -1—
y 7 19 ) ( 5 y 7 y 19 y 3y

1 2 14 1 9 3 15
1186) [2x%y° - 1=y —1=y°| - [-=xy® + =x%y° - 1—x%y| +[5=y® - 18—y° - 2x°
) (&Y 70 ) T\ T T i 177 Y

3
7ix3y2 AP 17x%y| - 7ix5y + 1§x3y2 + 2y +[102x- 2§x3y2 + 11x5y
11 11 10 4 10 12 6 3

1188) (2a%b* + 1OZb + 1£a4 - 1161%4 + 93a4b +1—b|+ 1b - 5£a3b4 - 11a4b
9 19 3 16 12 5 20 6

11

19 7 11

8 5 1
18m°n® + —m°n? + —n°| - 1Em3n5 + 31m4n3 + 1O£m4n - 3lm4n3 +—n°+ 11m3n5
11 6 18 18 4

13 19

1189) (17xy2 - 11—O + ixy"') - (ly"' + 4E + 13ixy4) + (1%)@2 +1+ 1%xy4)
( 10

1192) 1—15y5 + 22X3y5 + i—gxe’yz) + (8£y5 - %x:*y?’ + %x3y5) + (1éx3y5 ¥ 5%X4y5 ¥ 10%x2y5)
1193) (9%xy3 - 1%X4 + 1%X3y5) + (%x3y5 - %xy?’ - 1%%‘) + (%x4 + S%X:”y5 - 11—10xy3)
1195) (1gx4 - %x"’y + %xy) - (%x"' + S%yz + 4%xy) + (%xy + Q%yz _ 1%x5y2)
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5 3 1 5 10 2 1
1196) (4—y* + 3x3y? + 1—x*V*| = [=x%y® + 1=xy? + 1—v*| + [11xy? + —x°y° — 1—x%*
) 14y y 16 y 8 y sxy 11y o 11 y 17 y

7 1 1
1197) 10-20% + 158% - 22203 — (8205 - 8% + 21| + (11105 + L2 4 La2py
11 4 37 10 19 16 6

18

3. 2 1 15 4 1.2 1
1198) [xy - Sx5y° + 1530y | - [y + 22 x +4—xy| - [1=xy + =x°y° - 3—x°y*
)(1oxy3y 5y) (16y v 7xy) (2Xy3y 10 y)

1

1199) {6

1 2 3
“m’n+ 10— m2 -—m®| +[=m? + 103m2n + 1gmn5 + llmn5 +m? + 4£m2n
15 13 7 3 3 9 4 15
7 10
1200) 82a-18> a5b2 +3— 3 2% | - [Lab? + 22a5h° + 6=a5| + 13a + 7iab2 + 103:;1%5
5 13 9 19 2 19 13

26 3 13
1201) |—x°y° - —x 113> Xy*| - 1254 —x°y® + x| + 1Oix5y3 _12 4 1O£x4y5
35 29 16 16 33 10 5 11

29 14 %, 31 ., 5 7 29
16=>x - 20xy - 1= X3y + SExy® 4 18— xy| + [13-Exy + —xy® + 25 20x
40 VT3 y) (38 T 1Y T\ zoxy 30

1 1
33—u v+ 17£u2v4 + 24iu2 +|=u? - 3'uzv“ + 18§u4v5 + iu2 - Eu3v4 - —gu“v5
4 45 15 5 14 7 46 6 36

1£ab3 + SEaE’bz +7— 5 55 + 24§ab3 + 12§a5b2 -~ 14 ab® +3— 13 a+1= a5b2
24 48 19 45 36 7 15 36 7

9 5y 141l 6 ,, 17 - 5 18 8 , .4
+14-" =Xyt + 5=y + 15— y| + (20 x%y* + 20x%y° + 1-—x
42 26" 7 25 y) (7 Y oY 37"\ T <Y v 1

15 13 55 .20, Loa_qLany 5.8 [1Zs5 1
1—y+—XxXy’ —1—X 17— —X +—Xx°| - 1— 1 x
49y 23 y 21 ) ( Xy 47 y 16 23 ¥y y 3 Xy

17 18 1 42 6 33 26 2
+9——x*2 + 1—=x%*| = [17—xy® + —=x*V° + 24—x3y3| + [10=x3y2 — 1—=x%y* — 1=X4Y®
Xysoy 47y 18)(3/43y 29y 46y 27y 3y

|
|
|
09 28y 12
|
[0
|
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16 20 3 29 16 20 22 15
1209) |=xy* = 1=y — 15 | + |1 —=xy? +=x° + 21—y + [oxy? + Py - —=x°
)(31Xy 4777 g ) (4zxy 47 3 ) e T a3

1210) 16 min + 60 + 16—m2n®| - (23 22m®n - 120 + 205m*n2| - [110% + 9 min2 + 4= 20
34 17 38 34 7 7 3 50 21

10 ;5 4 15 1 23 & 1 534 1 5 39 5 1534 35 5
1211) [1—X°y° +22—x’y— 1— +|1—Xy+36—X°y° - 1— -|1—y’ + =Xy’ + 21—X
) 21 y 7 y 7y 39 y 13 y 15y 46y 8 y 38 y

11 3,,3 14 2,,3 1 2,,3 25 3,,3 S 2,,3 3 5 9
+1—XY + —XY | - (183 XY +25-2 XYy | - |1 XY -y +—
13 49 Y 41 Y 24 Y 38 Y 6 Y 13y 19

2

21 2 4
1213) (22—a°’b® —-—a’b+—b®| + 11a2p - Zpe ~ Aosps| 4 1§a2b4 + 1 %5 - 1§a4b
26 13 3 47 5 13 8 8

13—V +2—uv + 9iv4 +|v+ 1lv4 + 203 - 9§u3v5 - gu4v - 2038
28 46 32 3

1 11 8 5 3 6 5
193y + =x3y° + 1ox0y? | + [—x3y® + 5—=—x%y - =x3v* ] + [1—x3y° - 1—x%y + 1 =X
y 1 y y 25 y 17 y 7 y 17 y 22 y

1216) 2320 bn® + 233m + 27mPn| + 2422 mPn + 8rPn® - 22m?| + (4
28 7 25 18 7

25 1 21 20 5 11 19 28
23550y — xR + 35 4+ | YR + 15y + 21 x| - [16—y? + 25—x%y® — 35%2
42 y 6 y 44y 31 y 9y 38 21y 37 y y

|
|
|
|
|
|
|
|

3 34 1 7 2 13 1
1218) [=xy® + 14—x%y? + 6=x°y?| = [11=y? + 17=xy® — 16x°y?| - [1==x?y* + 1=xy® + 38x%y?
)(4><y - y 5 y 8y 3><y y 3 y 3><y y

1 3 17 5 7 5 11 13
1219) [—xy? + 5—x*y° + 29y?| — | 10=—x*Y® + 3—x°y® + 23—xy*| - [20—x*Y® + —=xy? - 2—=x°y°
) 11Xy 22 y y 26 y 19 y 10)(y 34 y sgxy 15 y

2 15
1220) (EXSy4 + 8iy5 + lﬂxzy) + (C’%y5 +—x%y + 211—6x2y4) - (1£y5 - 3§x2y4 - 1%x2y)

26 15 22 35 11 9
16 4
1221) | —udv® - 13250 v] - [Av+ 111—3u3v5 + 1gu5’v3 + 16§u5’v3 VNP
21 16 5 47 7 37 7
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1 5
4=—m*n® - 1=mn® - =m°n®| + llﬁmn5 -~ 1Em5n3 + ZSEn3 +|—n®+ 41m5n3 -~ 1§mn5
12 5 33 48 49 14 2 8

2 , 17 4,4 .13 5,\ [14 s .8 232 o1 an
1223) [1=y? - 1=-x* + 1x3y? | + | —=x + xy° - 3—Vy?| + 7— +3 3—x
) 30 Tt T 39" Y 31y 90" XYmooy
2
1224) 18£+6£x—1§xy2 o1+ 153+—xy2 - 14£xy2—28x+ 129
18 19 9 11 13 3 19 21

4 10 19 11 1 10 2 1
21=x%y° + 1—y? + xy| + (25 xy® + 21 y® + 46 =Xy | + | 7T X"y + 23=xy® + —X°y°
TR ARET A 26" 187 " 1177 TR Ty

5 5 6 35 1 1 11
1226) [=xy? - 2—= +22— 1— x25+12 +14— 10—x2%y° + 10—x%° + 18 —=xy?
)(7xy 4 X 16 y) (7 y 29 Xy’ Xy) ( 22 y 19 y 1sxy

9 14 18
1227) (42m®* + 2430 ins = L ine) Z {1 20t - mtns - ) - (1-Lmene + 181—9mn5 +—m?n*
37 35 15 31 19 37 23
1 19 27 11 4 3 13 9 1
1228) |1=y* = 3==xy* +2—| + [ =xy* —1—x+1—|+[1=x~- +5=xy"
) ( 37 "7 28) (21Xy 5 14) ( 24107 *55Y
31 19 1 3
1229) 2120 + 22y - B2 02] - (o + 18tuevt - Luse + [2ueve - 1 tievt - 1005
14 34 25 7 6 7 2 21
7 4 19 ,, 2., 13,, 12, W5, Yoo, 628 o
1230) |16— +20—xy° - 1—X +(48+1—Xxy  —— 25— +1— +5—x
)(1gxy 23y 7Y 23V XY (B Y iKY 85Xy
41 7 18 1
1231) 1302 33 mnt + 10 e + (22 4 14-L ot + Lnend) + S0 - 2t + 25 5 mn
25 4 28 44 13 12 41 2 40
16
1232) |—a’b - 458%02 + 1525a50%| - (527 a%h? — 1-ath + 1~alh)| + (4 ath? + 4485 -~/ ap?
23 30 29 26 8 22 50 19

1
1233) 23£y2 —x%y - 1£x) (21iy2—3£x+ 15%x4y)+( %x y+ 13y 4220 )

( 26 15 18 15 14 41
1 7 16
1234) |15m?n°® + =m?n? + —m>n®| - 1> mPn® + 16mPn’ - 2on%| - 9§m2n2 - 38m°n + 43m°n®
3 11 12 21 19
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13
1236) 12080 —2v® 1142200 + (a2 + Biave « 28 + (18200 + 1.1em + 2oy
13 17
8 1 29 2 1 1 7 4 31
1237) |— +=x%y? + 23— +4—x%° — 1=x%V?| = [1=x%y® + 2— + 22=x5y?
)(114y 44y)(3 36y 5y)(8y 37 48"

2 11 5 1 25 11 7 10
1238) [=x%y? + 23— + 1—x*y°| + [11—x%y? + 13— 3 —y +1—x%Y° +21—
) (3 y 12 13 y 42 y 39 45y y 12 y 39 y
8 5
1239) |—mn? + 18+ 122 mn| - (222mtn + 18317 + 2420%) - [2mn? - 31m*n - 130
25 11 32 7 8 6 14 7

12 29 5 22 5 1 5 31 45 5
— -18— + 24— 8— - 1=xy +=x° + | 31Xy + 22— -—
19xy 43Xy 30 y) ( 23Xy 32 y 2 y ) ( y 9Xy 49 y)

12 3
1241) (2a®b - 25b° + 21— 21 a%0?| + [1-1-820% + 128% + 2a%b?| - (11 a%h + —-afh? + 1113
22 50 5 41 40 17

23
1
= Xy +9— 16 40123 Xy - | = 51258 yi+1 3y >y| - 181x5y +15-158 2£x5y3
16 27 39 167 17 5 6 18 45
1243) |1 - 150232 02y) - (182802 + 2537 35 11 + (32 + 23202y - 120085
29 a7" 25 a4 18 18 29

23

|
|
i s
|
|

42

4 18
1245) 1§b2 + 152 308 + 172 3b5) ( 3335+ L ans 4 1§b2) + (Ea?’bs +ab’ - 1%b2)

( 39 46 13 41
14 5 4 17 37, 1 15 6
1246) |[—x2y? + 12=x%? + 1—x%y| + X2y + 10—x%y? - 1=x?| - [256=x*Y? + 16—y° - 1
)(43y 7y 9y 2y4oy 3y 16y 7y 16

19 , 49 2 3 1 11 8 19
1247) [14x%y2 + 5=—=y* + 22— x°y*| = [—x°y* + =x*y* + 25— x%? | - [13==x%y* + —y* + 24—=x%?
) ( y 42y 50 XY 13 Y 5 y 14 y 36 Y 21y 25 y

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
- 96-

5 29
x*y® + 15— 21 xzy4 13 x3y4) ( 3 Xyt + 4— g x4y® — §x4y3) + (16—x4y5 - gx“y3 + 45x2y4)
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1248) ( ;g

v+ léuv3 - lluv + 9lu5v3 - iuv5 - iuv3 —(2u®v® - lluv + 1§v4
6 2 15 49 29 4 49

19 6 4

30 31 17 14 2
3yt + 323y + 3y + 213y - =Pyt + —xCy| - [4=Cy + 13yt + 155y
y y 13 Y) ( y y y o4 y o7 Yy 5 y

31 40 11

9 29 , 13 27 27 4 0
22 +12 S+ 3+ (10X + 28353y - x|+ [T+ T+ —xy°
v Xy 22 ) ( 30 ¥ ssxy 28 25 y o

16

0 2 3 5 11 2 3 5.,2 5 5:,2 2 5.,3 11 5
+ 3 + 22 x 27X’y + 10— +—X +|3—Xx’y" —1—X +7—X
9 Xy y y ) ( y 45Xy 16 y 44 y 15 y 20 y

4 3
ulv® — 17v+ 7— 33 v = [ZuPv? + 153v + 1£u3v5 + 241—3u4v4 + 21£v - 1£u3v5
7 43 5 38 27 30 2 39

40 ,

1253) 5812 X+ 3x3y2 + ﬂx+ 14£x3y2 - 2733 - 1gx3y2 L S
6 14 7 39 3 43 19

10

1a b° - a 3p? + 19a%b°%| + 10a2b3—§a+2a3b2 - 3029 a*b® - 1 a’ Zlib2
2 33 45 19 43 3 31

2 17 37 1 7 11 11 37
1255) [—x*y? +5—x + 16— +[(7== + 1530y + 18— XNV + [=xy? + —=xPy? - 12
)(11y Y 27y)(50 3 VT Y T 8" T T
1 8 5 7
1i n° + 14£n4 +—m?*| +(23 17n +—m*n® +=m*| - |—m* - En4 + 12@m4n5
13 9 11 39 9 6 31 49 41

14 , ¢ 7 35 .28 7 1 55 2 2 1322 12 , ¢
—xXPy® +2—x%y° - 1| + [6— + =Xy’ + 1—x%°| - [1= + 9= +—X
17 Y 16 Y 29 31 Y 23 v Y Y

8 5 23 13

m°n? + 20n* - m°n| + 14£m5n2 - lin4 1— 4l m°n’
22 17 42

213mn +151mn 2m°n
14 2
11

41 32 36

1 1
iuv3 + UV - 1==udv| - 2iuv3 + loiusv + UV - 1§uv3 + Zliu5v - 12iu5v5
3 21 2 9 21 49

1 1
—ud+ =i+ | EP 7= 35 ulv + 1= 23 —|19u*V? + Tuv® + 23.£u2v3
49 4 37 24 28
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4 41 21 23 5 5 34 22 5
1261) [1=x°y* + 17—=xy + 10=—=x3y*| = [5—xy + 15x3y* + 12-—x3y° 1 x5 4+ 15==x3y8
) ( 5 7 22" a0 267 " 9" 1277 3Xy Y 23 Xy
24 2 17
1262) 0221 4 42 5% + 1-Latp| - [Z2asp® + 24 a4t + 203 + [17-0% + 14—t + 2
25 27 16 29 12 3 13 48" 18
13 2,2 4
1263) Exy 1=x* + 433y + [1=5x2 +9— xy 30x%y? X+ 7—X>+ Xy
9 29 33 19 2
1264) {x* = 1-—xy° +1—x| - P —1ox+ x|+ (14 x+ x4+ 2
)( 7 36) (47 23 ) ( 7 Xy)
13 , ) 3 ,, s 3 5 5 8
1265) [5—y° —21y° + 15—X +|34y° ——y - -1—y-1—
)( 157 y 35V Y =14y 9y y’ 13y 13y
43 1 4 14
1266) |—m?’n?+ 128 m® + 13mt) + (223508 + Lot + 1. 2mtn?) - (2t - e - 18
45 47 2 38 3 3 5 27 13

m* + 11—9m5 + 1n5 + 81n5 + 1in3 + émzn“ + Em“n5 - 1in3 + 8ﬂm5
48 2 8 15 24 37 16 48

2 15 3 20 3 5 18 4 31
1268) [4=y° + 2=—xy + 13—x*?| + [43—=x*y® + 8—y° + 14— 9—xy-1—-y° +15-—x"%?
) 3/ T3 13 y) ( 29”7 "% 27" aa”
4 13
1269) (—u* - 13085 + 12 utv] + [ ity — 310t + 1520058 - (11 0y + 14 utvs + 7L
25 4 19 48 25 12 10 45

1
1270) |—a® +19b% + 1= ab5 1022 ab5 12248 + 24 22p5) + [20a° - 1230205 + 22ap°
3 36 48 16 48

8
1271) (122—27 xy® +— - 1%y3) + (%xe’y + S%W + 20%%) + (%y3 + 11—79 + 1%x y)
1272) (1% P+ —uv5 - ;; u® 5) (1 zu V> + 1158 3+ 111—72u2v5) + (4%U4V4 - 23—19uv5 + 61—18u3v5)
1273) (1%X4y3 x'y* + Z%y) + (%x"’y2 - 1%y - 1%yz) - (1§y - ff.%x“y2 - 1%x3y)
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39 4 19 42, 534 416 4 23 ap _aLoa 217 54
1) + 235y - 1y + (105X - 15yt + 17 x
44y) (24 Y A" 377 T Y

10 s 5 23 1 1 33 3 5
— +3 HH oyt - Sxty + 1%y + [15—=xy + 23 —xy* + 14—X°
<y Xy 1zxy) (4gxy PR P a7 0™ 29”7

1

1274) (23x + 12 y4 -1
1275) (

|_\

30 8
1276) —x5+191+16§x5y4 - 13+121x5y4——x5 135y Al 128t 128
49 5 28 7 23 7 2 4
1277) (3—x 1 +21— - 1—x%* - 333y | - [1—=y* + 2=y + 18-—x
) ( g )~ Xy soy) (25y 1077 Y 127 T T
7 18
1278) gu2v4 - 1—v4 - —u?v| + 1£uv5 PN 101—3u2v 1208 4 2205 + 22
3 29 19 2 40 24 7 25
12 10
1279) 1i 3v2 —11—8u 2 10ty - 11y - 11—6u3v2 F11-L0+ 160y
15 25 11 3 2 45 28 33
35 45 4 7 o2 gl a1 Laa) ({1 as, 12032 25 ,
1280) (10— - 17x°] = [15—x%y? + 8—x* +1—x%? + 13—
)(48 Xy - )(26y 36y 8y 3.y2y 43y
8 16 /35 1 36 3 31
1281) (34x%y 24 152 5 Xy° XY + 7—x%y? = 1—x3y° | = [1o%y? + —x3y° + 1= xy°
)( y43y)(25y 36y 20" Y 437 T0" Y T
22 3
1282) |20— 39 s - m3n2+123 {23202 = 2mtns + 208me) + (51 mne - 1L mn® + 2-Lmen
2™ 40 34 7 35 42 15 12
9 22 19 3 5 1 1 1 1
1283) |1 o%° +12° - Xyt +2==x%y?| - [20—=xy! + 1—xy® - 12x°y? | + [34—x%y? - 1=X°y? - 1=xy°
)(32 Xy 483/)(10y g Y 107y T TN
1284) LN y> + y4—1ﬂx 1733 xty° - 11x4—1§xy5 + 12§x5y“—13x4—44§x5
36 5 46 3 44 8 22 25
10 4 3 1 1 17
1285 Sy - 173y +1— —x+X°y* + 35xy° | + [ =Xyt + Sxy? - 1%
) (13 y 43xy) (19 y Y 37 T T
24 3 2 15 29 7
1286) x%y° +=x 17X = [24—=xy* — 8x* + 1=x%y°| — |3y + 1oy - 1—x*
)(y y47)(38y 777 287 Y T T
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131a3b3 + 171a - llab5 - 1§a + Ea:”b3 -~ ﬁab‘r’ —(30ab® + 2a + §a3b3
4 9 9 5 19 27 26

7
1288) 52 m+ 242205 _ omin®| - [1-2mn® = Lm— 1203| - (192m+ 11 min® + 242803
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5 17 1 43 13 1 3
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1
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45 1 8

8 55 4 9 41 ; ¢ 1 555 14 5 ¢
1—y+1—Xxy’ —-1—X 25—y + 20— -1—X +|22—y—-1—Xxy° ——X
y 11 y 5 y) ( 3y 20 y 43 y 14y 6 y 15 Y

5
1253 4 —x*y° + 24Exy5 196 + S 3 x*y® + 195 - 1£x3y3 S1h3 s 44x°%y
11 22 37 7 22 45 24

22 47 27 32 9 10 47

1294) |b® - 36— 17 a’b - 1 b3 §b3—13a3b+4ia5 + 12a5+241a3b+24ib3
18 50 27 46 4 21

11 6
1295) |20u®v® + 3— Lo+ 1330302 + (2205 + 102088 + 15082 - (11wt + 15058 + 238
32 14 12 9 10 11 20 23

23 5 4 1 2 1 1
48x°y* — 36—=x4y> + 25— vy*| = [19=x?y* + 25=y* + 17— x*?| - [15=—=x?y* + 5=x*y® + 22— V*
y 40 y 16y 9 y 7y 21 y 43 y 3 y 40y

27
8 17a3 - 11a5b5 + 1§ab2 -~ 11a3 + 23285b5 - 1§ab2 -~ 17§ab2 -—at+1= a5b5
3 29 7 38 29 8 35 3

1 5.,5 2 5 15 3:,3 1 4 7 3:,3 8 3,,5 4 4 11 3,,5 21 3,,3
1298) [6—X°y° +—Xy+1—X +|1—Xx" +14—X - —X -11—X" + 6—X —X
) 2 y 3 y 34 y 12 9 y 15 y 11 21 yo- 25 y

8im"'n4 + 1im2n5 11 men?| - 16§m2n2 + 181m2n5 +7-Lmtnt) + 1im4 +41— 9 m’n? + 4—1_
42 16 41 41 16 32 17

|
|
q
|
|
|
1209 (8.2 1522, 1200 (1920 2 Sy - 1010 132 -1 2]
|
|
|
|
|
|

29 42
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13 5 5 13 41 4o\ [Loao 07 55, o2 42,020 05 1 55
1300) [16—x“y’ + 10— + 8—X - |—=X +9—x°y° + x| + 33Xy + 8—XYy° + —X
) 31 y 41 45 y 3 y 32 y y 33 y 22 y
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Polynomials - Simplify 9 monomials and fractions with 2 variables:

Simplifying monomials and fractions with two variables:

1 S 1 1 1 1 1 1 1 1 1
1) =Xy -=x3+8y°P + 1ox3 + 3P + 4=y + 4P +3oxy - 2x° 8oyt -1 + 122y + 35
) 2 Y 8 Y 2 4 Y 2y 2 Y 3xy 4 y 8 2y 3xy

2, ., 4 5, 1, 6 1, 1, 1 1, 3, 83
2) 15y + 2% -1y +12y2 15X - 1oy + 25 Y2 + 153 + 45y 253 + 55y  +——
)13y 57 "6’ 76 777 T 2’ “3 47 "0’

3,2

6 1 3 1 1 1 1 1 15 1
3 —mn*+1-mPn?+-m?+2-m?’+1-n-1-mn*+n+1-m°n*-=mn® 3m’n®-—mn®+3m?+2-n
7 2 4 4 4 7 2 4 28 4

37

1
4) 32a%0% - 1202 + 1ga2b £ 202 + 210%0° + 83a2b +128%0°% + 1p° - 1§a2b3 73003 12
6 6 3 3 5 7 3 5 42

2382 + 10—~ ba
5 15
3 3 1 .
5) u?v? - 1t o1l s oo S ’B)guzv3 Y 1gu2v2 32023 + DUy + SUA2 - 312 - 3y
7 2 7 5 2 3 5 7 3 7
6) 1 XYy+—-y+1-X +2—X +XYy -1-X+=-XYy+1-Xx"—-1— XYy +1— +5-—x"-1-x"-1—
) 2 Y 8y 8 8 y 2 5 y 8 3y 4 1ny 8 24y
1 1 2 1 1 3 9 13 5
7 2 2 _ 2+2_X2 2+1_ 2+_X2 2+4_ 2+X2 2 _ =2 _Yn2 37 2X2+57 Zx_i 2
) 2xy° -y SV Loy XY Ay S 107 207 X" 14
1 2 1 1 11 2
8) 2u’ + PN SR SR A LI D LNV P E NV T P Ly
2 5 3 2 6 4 7 3 3 20 3

3 3 1 2 2 5
9) 2y*-7x° - 1%y+ 2y+zx3 - 3§x3y+ 1§x2 A 4§y2 —32x3y - GZXS + 6§y2 + 1§x2 +oY

1 332 22123222 132 323 2.,2 232 232 423 22
10) — -2 XYy + 22Xy + =Xy + XY -1 XY+ 44Xy +2XYyT + 1 X 2 XY+ 44Xy +4-X"
)47y yT XY XY Y XY y"+15Xy <Y XY oy

4 1 2 1 3 2 1 23 5 1
11) =x%y> -8+ 1-xy + 1= + 3=-x%y? + 1=x°y° + 2x°y° + 1=x°y? + 3= Ax%Y° + 4——xy? + 4—xy — 6=
) 7 Y 6xy 3 8 Y 7 Y Y 7 y 4Xy y 56 / 12xy 3
1 1 S 1 5 3 2 6 4 1 5
12) 2=x+5y° —2=xy° + 1oxy® + 1=x+2=yP +4-x+ 3=y’ - 1-xy®  2—xy® +11-y® +8—x
) 3 Y 6xy 6xy 8 6y 4 3y 7xy 21Xy 2y 24
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2 1 3
13) b3 122202~ Za2h 4 aPh + 3507 + Sa2b? + alh + 20° — 20207 —b?a? + 6—bf 41 ba
5 5 4 2 10 28

1 3,,3 5 3 1 2.,3 2 3 3 3,2 3:,3 1 2.,3 1 3 5 3,,2 1 3.3 1 3,2 45 2.,°
14) 4=Xy =12y =1 XYy + -y  +4-XYy +2X°y" +—Xy" —2—y" = 3—X 6y X" =1y X"+ —yX
) c y 6y 5 y 3y - y y p y 6y 3 y 5y 2 56y

1 1 1 11 1
15) 110002 + 120%0% + 222 + b7 + La%h? - 32a%h? + 4582 - 2a%b + —a%?  2-ath® - 1iath? - 2a%h + -
2 6 6 2 3 3 4 4 6 12 2

1 2
16) —m°n® + 32m + 432 + 12080 - 202 = Zmn + a3 + 25m2 - 3t 2 tmen® + 8 nint - 3
2 5 5 3 7 4 4 3 6 20 :

N

5 3 3 1 , 1, 3 1 3 3 3 3 3 39 2
17) 4—x° -3—y+2— +=x3 1 x3y? + 1=x2 +1 +1-y+1=x° 1—x l x +3 + 4—
) 6 4y 8Xy 8 7 y 4 xy 3y 5 y 5 y y 56)(y .

18) 2%x— 1%y3 + 4§xy3 + 1gxy3 +§y3 +gx+ 4y® - 2xy® —gx 456xy + 3110y + 2::::x

19) 1= x3y val xy + ix + ;x y? - 15x2y + 4xy® + 1ij - x%y - 1§x3y2 éxSyS +211x3y -1- x2y +8411r
20) 7§x2 + 2§y2 +%x2y+%x2 + 6%x2y2 - 1%x2y+ $x2y+ 1gx2 - 1%y2 6;x2y 19 X2y + 12?E)y + 9;; 2
21) m n- Bzmn +2m+ 1;m+ 12m n® zmg’n + Z%mn3 + 2§m2n3 +2m 4145m2n3 - ;m% - 1;imn3 +.
22) 3%x3y—§y+ 2% + 1% —§x3y+ 4§x2y+ §y+%x2y2 - 1%x3y 1Zyx —x%y? 4§x2y - 115y + 3:

1 5 4 2 2 1 2 7 2
23) =Xy +xy = 1ox% + 1=x% + =Xy + A=xy + 4=xPy + X° + 2 5=xXy+1—x*+ 7=
)2 y+xy-1g z XY Ay +HAOXY Xy XY+l Y

3 3 3

3 4 2 1 1 7 1 3 4
24) 1=ab+4=b%*-=a’b®+1—ab-1-a’b® +4-b*+-ab-1-a’h®* +8—b?> -3-b%a’+18——b*+3—ba
4 7 5 7 5 4~ 4 5 8 5 56 7

25) N 2b——b+2 b+2a b+13+2ﬂ ’h - b+—a3b 2 o+ 1302+ 12p + 31
2 7 4 5 8 8 35 3 4
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1 1 5
26) 32mPn? — 13PN + 12080% + S2n® — 1m+ 2mPn2 + 1omPn® + =mPnf — 2mfn 3mPn® + 52mPn? + iy
8 3 3 8 2 7 6
1 1 1 1 1 1 1 3 5 1 11
27) T8 = 1553V + 3502 + 1oy — 15532 — T8 + 375508 + AV + 22— A 4 APy 4+ 32
) SY Ty A Y ALy S Loy oy 430Xy y +,y gV Y Y
4 S5 3
28) 2§x3y+4%x3y3—Ex2y2+4§x3y+2x3y - 4y? 12 y xy + 2x%y? yx e yx +7 yx -

1 1 3 17 1
29) 338 + Ty 22 v c 1t s u s ur a20P - A 3SR 5w v 4ty
5 2 8 2 6 5 24 2

5 3 ,151 o 163 o 1

1
30) 5m+ 33me 1t e 1 3m -t 1 2ma 22me 18 - 32me 2By +9-m
7 6 8 8 2 3 7 6 168 168 6
5
31) 2uv+ 1gu2v2 - 11u + 1§u3v——u2v + 16 + 35uv - 3 + 12u 328 + 122 + 320 + 1gu3 —:
6 8 7 6 6 3 6 24 6 3

1 1 1 2 , 1 1
32) =xy? -3x° +8x°y+—y+—xy° +8 +2 =x3y? + 3=x2 2=V + 8x3y + 322X + yPX — 3% + €
)2xy 3 X2y - y*+oy+s xy y+27 y? 3 y? Y y+33Y y

3 1 1 2 13 1
33) ~uP+1-udvi-1-uv? + 1ﬂu3v2 232 11u3v + 11u3v2 + 1gu3v +=ud 2232+ Byl
2 2 5 8 6 3 3 21 24 2

1 5 1 2 3 5 3 3., 37 1
34) =xy? + 1%y —2oxy + 1oxy? + 1ox%y® - 3oxy + 3%y + 8%y + 1oxy? 9 x +4> x +3—xy* - 6=
) Iy T2y 1yt 10Xy =3 0y + 3y +8Xy + 10y y? y+3. 6

1
35) 1%ab+atadp® 4512412 ab a3+ 1202 202 4 T2 + 12ab 9-tb%al + 15b%a2 + 7ob? + 4
7 2 2 5 2 4 3 10 4 2

3 5 3 3 4 .3 2 9
36) 15 - xy? + 32x%y° +5xy? + 15Xy — 4+ 2X%y° =3 xy? + 4= TP+ xy 2
) 1, 0 + 30Xy Byt 10Xy Y o3y A TOXY 2

2 1 7 3 1 3 5, 7
37) 20° + 22x+ SxPy® + LAy + Sy 2 xk x+ 6xyS - Sy’ oy + By 1L
) 2xy X XY XY Ay ) XyT Xy m y? xy 0

5 1 1 1 2 3 1 1 3 1 5
38) 3oxy’ - =X+ 1=+ xy? +1--35y 450 - 2y° +3= 4xy® -5y  + 47 + 66—
) 6xy 2 2 2xy 7 4y Y 3 3xy 4y 2 42
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1 s
39) 2uv® + R Y P S IR A O E S ST SO - SV B 1PV P AT Y s
4 3 6 4 6 5 5 4 6 60 3

7 5 1 11 7 1
40) 12ab - 222 + 130% + La? + 31ab + 1208 + 3222 + 2ab+ 2b°  3oib 45 pa+ 2082
8 4° 8 8 5 37 6 2 20 12 24

1 1 1 1 1 5 1 5 3 3 23 3
41) = 2 + _X2 += 3 +3= 2 +_X2 -1= 3 + = 3 _ 1_X2 += 3= 2 3 XZ
) 4Xy 2 2y 2Xy 3 8y 6y 6 5Xy 4Xy 24 5

5 5
42) A -12mn+8nf +3n+ 1508 —mn+ 1o + 12 4+ 2mf2 2mPn? + 11—n® - 2+ 7n+ 1o
5 3 4 4 8 8 12 5 4
1 1 1 1 1 2 1 1 1 1 2 2
43) 2=X%P 2=+ XY+ 6 - XY+ XY oy H Ay ATyt 25x%y7 + xy® + 35Xy + Xyt + —xy + 3
)8y63xy Y F YTy ALY+ Ay g Y TP HIXY Oy Ay

1 1 1 7 1 4 2 1 5 1 13 4 5
44) 3=x%Y? -y —1oxCYP 41— 425y —3—yP 4+ Y+ 1oy - Sxy? 1A+ 2 — 2R 2y +
) 6 y 2y 2 y 8 6y 5y 3y 2y 8 y 2y 24y 5y 6y

1 1 5 1
45) 3353 - 3§x3y2 += 4+ 81x3y2 -=y 4+ L 4§y3 - =x%y? 41—3x3y2 +333 + 4£y3 s1 it
8 5 8 2 5 6 8 4 4 20 8 20 12

1 11 24
46) 2uPv + 13-t 33t s aliv e 12ive s v 1t 30 72 1220
4 3 5 5 7 5 8 8 120 35 40

5 3 2 6 2.,2 2 2.,3 7 3 1 1 2.,2 4 3 2 2
47) 4=y  + X =2 XY +1=-Xy —1—xy—-4y  +2 Xy —3_ XYy -3— 1—x
) 6y 3 - y c y 8><y y 2xy 3 y 5y y

3 2.,2 3

4 5 5 3 7 3 7 5 3 5 g
48) X°y? +1—y - 1x+ X°y? + 32Xy + —y + Xy  + TP - 2=y® 23yP + 10-x7yP - 22 P — 1 ox+ 2
)y5y6 y6y7y8y y7y 8y 6y 7y6 B

1 153 5, .33 63 1 3 1, 33, 6 3 41 , 1., .1
49) 1—+1_y -2 X +1-y +_Xy+4—+Xy-1-X"+— 1-Xy+3—y —4_—X"+5_
) 4 3y 6 4y 7 Y 4 Y 5 5y 7 y 60y 30 2

1 1 .1, 1., 3 1 1 3 1., 3 1
50) 1-ab-2=+3=b*+=b*+—b+2ab+ab-5b°+1=a’b 1-a’b-1-b*+4-ab+—-b-2=
2 2 8 2 8 4 4 8 2 8 2

1 3 2 1 4 1 3 5 3 1 2 3 5
51) =x3y° — X%y + 1=xy° +5=x2y - 2—xy° - 3=x? +1-x° -1y - 2=x° =3y —15xy? + 22— Xy - 1=
) 7 y 4 y 5Xy 2 y 5Xy 7 7 7y 5 y 7 y 5Xy 20 y ra
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52) m*’n® - 3%+ 13m0+ 27 - 1 3m + 122 4 1202 - 322+ 22 catnen? 4 2t - 2—?
5 8 8 4 3 6 6 2 6 8

£

3 4 3.1 .5 3 2 5 5 37 2 19
53) =y —1—-xy? + 1=+ = + 1y +4-xy? +1oxy? +2= - y* 1oy + 4y -y 4
) Y T Ay LY Ay LY 2y Ty Ly A YTy

4 1 2
54) 2+ 130 -1202 + Lapt — b+ Sath+ 4t ab3+12 3b——b 283003 + 42 b3a 1= b2 ~b
7 5 6 8 4 3 84 5

5 1 1 2 1 5 25 1
55) Ex3y - ng3 A 3x® + 5x%y* - 2.,y xy* - 1§x3 +Y 6X°y” + gx3y -—x*-2>y

2 3

56) 4-a’b® - 3%a+12p+31a%% + 32 b+14 18
5 5 7 2

1
a+b-1= ab3+11a 6 a’b® +6—b-—-a
5 6 2 15 B 2

57) 4% - %U3V + Z%UZV?’ + 1%v2 - 3%u3v + %u:*v3 + 208V + V2 - Zé éuSV3 + 2;u2v3 - 1;0u3v + zivz N 2221
58) 1§x3y3 +§y— 3% + Cf.%x?*y3 —2+y+ ?%xy2 +3x%y° - 2% 88x3y + 3 xy + 1 Y- 7;

59) §X3y2 - 1§Xy2 - 2%)’ + %Xyz - 1%X3y2 + %y +§ - 7xy? - 2x%y° —ZZx3y2 - 8556xy2 - 2238y +§

60) 1£x3y2 - X2y - gy + §x3y2 —oy+ 4%x2y3 + 3§x3y3 + 3%x2y3 —2x3y? 3Zy3X3 REVN 62y3xz 2;
61) 1%xy + ?%y3 - 1%x3y3 + %yg‘ - 2xy + ng:"y3 + 1£x3y3 + 1%xy - ?%y3 311270y3x3 - éys + ‘Zyx

63) 2ab + 1%a3b3 +3ip+ 13b + 13 a’b+ 1= ab2 +1= ab3 1gab2 —%azb 1éb3a3 - lébsa - 470b2a + 3§)t

1 2 2 1 1 1 .2 2 59 2 13 2
64) 2=x°y? +1oxy} -1+ 7=y + =Xy - 1oxy? + 8= + 1oy —1oxy? 3y + 1oy X - 2y + 7=
) 4 Y 3xy 3y 3 Y 3xy 6 5 Y 7xy 60y 3y 21y 3y
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2 1
65) atment o1 3 stz s 1 tminz o2 - Cnr e 2 m L il 420 4 53 neme - 3 iine-
6 5 4 6 7 3 2 3 6 4 70

66) 5x—3—y° + 3X°y* + =X+ —X"— X +4—x"—-1—xy+ 3—X 5—x 3 +4—x3-1 +5—x
) 4y y 5 8 y 2 6Xy 4 y 4 y y 8 6Xy 5

2 6 1 3 .1 12 1 4 1
67) 2y+ 52 + 10 + 1 4 o3P - 15y + 1533 + 4y - Sy 7TEd - i 40y o
) 2yrxXyHls T L U At 2y35y 57" <4

1 1 1 1 3 1 8
68) mn—-1-m®+ 13020 + m2n + S0+ 45mE + 35 mn + 8mn - 1°m®  10°mPn + 14w + 4-omn
3 7 3 3 5 6 7 6 15

3 3 |
69) 3L 22— AP + oA + 2§u3 NN 1gu2v3 - 4gu2 o 1242 1902 +2202 -3y
8 4 5 3 6 3 7 6 40 3 28

2 2
70) 2+—ab®-4a° + 1302223 -3t v alat i 2024 2ta 1203+ 3ta% 4 fa?+2ta -1t
5 5 8 6 2 6 5 5 2 8

71) — +4 x +1=x2 +2 1— + X° +1 =x? x +=x3 4—x —X +3—Xxy-1—
) xy y? AT 3xy y+1oXy - y? . y? <Y T XY <Y 13
5 2 27 2 1
72) b+alath?+> +12a%2 + 230+ 2 +15p+22 323?22 et + 42h+ a4t
8 6 5 6 3 2 6 5 40 3 3
3 3 5 1 4 3 5 3 1, 1 1 5 14 3 5 1, 1 , 23
73) 4—y° —3—y+3—xy°+2y° +3—xy° - 2—XVY+3=y+1—xy’ +— 8—yxX+7—y’ —-2— -—
) 4y 7y 2xy y 8Xy 5 y 6y 4xy 2y 8y 4y 5 42
1 3 1 2 1
74) Sx-2x* + 2%y + 51x3y _ x-Syl X3y + 1352 6=x%y —2=x° + 154
7 5 4 8 5 5 5 56
2 2 1 3 1 2. ,2 3 4 2. ,2 1 2 3 1 2 2 27 5
75) 3—X° +3—=Xy—2—=XYy + X’y —1—Xy —3—X"+5x°y+4— + 2X 9 x 3—
) 3 3 y 5 y y 7 y 4 y 2xy y- 35 12

2 2 1 1 1 3 4 1 1 2 3
76) TXY+1-y° + 1=+ =Xy + XY+ Axy? + XY+ —xy? 6Ky XY+ 6 XY+ 1y + T Xy + 4
) y 3y 5" 5 y 4 y 8Xy 4 y 5Xy y 4 y 5 y 3y 4 y

3 4 1 4 2 7 4 1
77) Zmzn3 + 17mn2 - 1%m2 + Zmn2 - 25m3n e+ 15m? - 1gm2n3 -2m*n —m’n*-4-m’n+3=mn

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
- 6-



5
78) 1 m2 2322 - 2+ 2m? - 23+ 13m0 + 32 + 12m - 22w 2 tmen® + 12mPn? — 32m?
7 7 7 4 3 3 2 2 3 7

5 1 1 2 1 1 5 11 23 9
79) —yP+2y+1-xy? + 8y + 1y -3oxyP + =y -1y +3oxy® 1 yx+8 -y +1
)8y yr1lpy 8y +loy-3oxy oy 1oy + 30y 207 Y 1Y

4 1 1 4
80) AOW +ASUAP + 25 4 2R + P -3 2P PSP Tl LU Lo 4 42
4 5 4 7 3 2 10 12 7 4

1 1 1 5 1 1
81) 1-a’b+=a’h®-=a®+=a’b+ 43b - 2020% + 31a%% + 21 a2h - 208 32a%° - 22207 + 42a%h - 2-a° +
2 3 3 6 4 2 2 6 6 3

1 3 5 1 1 1 1 1 S 5 1 3 1 10
82) 2=xX°y+—x3+= +1oxy’ - 1= -3 + 22X + 1= +4=xy 1)yt -+ T XY+ —
) 2 y 4 6 3xy 2 4 5 7 6 y 3xy 10 3 y 21
5 1 1 97
83) 220 stz a2 1120 212 C 13z atmze l J i 3B e 90
7 6 7 7 8 8 2 3 2 14 24 168

1 1 4 1 1 1 2 43
84) —y+2X°y  + 1oxy+ —xy + 3=y - =Xy + 2=y —xy + =x%y® 1Sy + yx+ 6—
) y a 2xy ny 5y > y 6y Xy 5 y 3y yX 60y

3.3 5 5 3 3 1 5
85) 4—x+3-xy —2xy° +3=xy® + Xy + 2=xy* + 2=X°y + —xy* —2=x 1=
) AgXH 3 XY 20T+ 30Xy XY H 200yt H 20Xy Oy = 20 >y

86) gxzy2 - %x3y2 - §X3y +7x° - 3%x3y + 1§xy2 + %xzy2 + 1%x2y - 1%x2 —;x3y2 + 1Ex2y2 3ix3y +1
87) 4%x + 1%x3‘y2 +1+x+ 3% - %x3y2 + 1§x - 1%x3y2 + 2gxy3 —;x3y2 + 23xy3 + 7ZX + 4i
88) 1%u2v3 + %uz - 1%u2v2 +6u® - uPv® + 8uv® + %uz - guv3 + guzv2 l;uzv3 - lZluzv2 + 7;uv3 + 6ZU2

1 2 4 3
90) —u?® - 1202y - 22023 + 4gu2v2 P VY 3§u2 Aeveo1220 aas s PICININENA
4 8 3 3 4 2 4 7 6 21 8
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1 1 2 1
91) Burliev 3l s 1208 s 1t e 1Sue 12 - 2304t sl e 3l 3t ey
8 3 3 3 3 5 3 8 2 6 3 3 5

3 2 3
92) 22p+132207 12+ 3P+ 244202 4 7ab- 202 + ab 2-2b%a? + 7ab + 4202 + 82 b+—
6 7 5 4 5 5 28 5 5

3 3 1 2 5 1 1 11 4 5 2
93) 4%y - 3=x%y% - 1oxy +4xy - =Xy +4=xF + 2=y - 1=y - 1= —3=x%y? + 23y + 2y + 45X
) AXCY =3 XY 1Oy + Ay = XY+ AL gV Tyl y Ry 2oy AL

12

1

1
94) 1322p-31a +23b3+4 a%b - 2ab +>a%h + 2a%h + 4a%h + 4 ab 5 a% + 61 a2+ 2>
7 3 3 4 7 4 2 21

5 1 1 3 4 1 2 15 1 27
95 - —Xy—-2—X+— 1— +3 X2+ 2—=X+ X? —1 4=xc-3—xy+1=-y+—X
) Y 7xy 8 3y Xy 3 5 Xy 3 56xy 3y 40
2 2 1 3 5 1 3 5 3 21 81
96) 1=y +1=xy+—=xy? +1-y+—x3y? + 1=xy + —x° 2 1=y2x3 + 3=
) 5y 5Xy 6 y 4y 6 y 8Xy 5 y y i 5y 4OyX 140y

b3

31a2 +
3

97) 3§x2—gxy e xy + 3X y+13xy i1 xy +36xy + 5x3y3 +4gx2y 63x3y +22xy +78x y+3f

3

3 1
98) 2udv? - 132+ 330 13y s BB+ 02 4 208 — 2SP 13T 238 + 5V + 51U + 34
8 5 3 5 5 4 5 4 3

1 4 1 .
99) =x%y + 11x2y2 AYENJEN N 1gx3y 120l —11x3y + 11x2y2 £ + 11k + -
2 8 6 2 3 3 7 6 6 8 6 2

6
1 2
100) 2102 et + mtn+ 13mnt - 23men + 2t 4 SRR 4 152 4 15 —1n®m® 4 25nm? + 2n
4 3 4 4 7 4 2 5 20
4 5 11 1 2 4 15 23
101) —x+2y? -2y +1> 5 -—Xx+1— X+4 +2— 6—y +8—y+1—X
) 5 y y 7 y y 12 2 y y 35 y 88 y* 60
7 5 2 2 1 7 33 23
102) 1—m?n- 12m3 + =2 + 622 - 22 2 s 2P -1 2-CPn —150m® - mln + 6o’
11 8 12 9 5 5 11 40 36
103) 12n-13m2 - 31mPn+ 2202 + 42mPn - - + 5= + 6£m2n 1l 8 n+32m + 2
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